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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle-in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
od 270 Fese & cebmisdial Sg O
Value Rate Scale Place Mean is affected by change in
.:;,Biﬁ.ﬂg ";"ﬁ""g J;Jsli';.u .glr'i;ulfu ..r}‘_l:*i/ fd.}f:uwb'..{l 2
Four points Single point | Ty points | three points | A tangent line touches the circle at
LFLP/j JL?" sl St L.lf';'-dué:Vé:u.;'ﬁ;’df/;,FU‘/fuwg_}b_{l 3
Incongruent | Congruent | Perpendicular Parallel Ihe e posite 1o incongruent central angles -1t
of a circle are always
-k ¥2x° -50=0=bl~ | 4
+5 i +2 + ﬁ-—-—-.‘: S
3} : a (23} The solution set of egation 2x° —50=0 is
: KA, -
t sin 0 sin@ I ;’@}s&c'ﬁ cotf@=————— 5
sin & cos £ cos @ S\
= = . RN ;
JY bk o 3 /;{\\{'\;\_‘,’) ,‘Lb'lkrjlf%’c‘__/lj .6
Arc Segment Boundry Chord  tThecifcumference of a circle is called
o T~ H -
’ -,id:[ﬁ";v _‘4..![.1-1-'(5():’1(}: az’ +bz+ec=0cbl-Fun | .7
4 3 2 1 ('T\Q;_/' | The number of terms in a standard quadratic equation
MA\“V az> +bz+c=0 is
AL p
; ¥ L e PR {2 [
RN Sum of the cube roots of unity is
5] =
s’u.rr(Ruots)uj.uﬁ 3x* =5x+7=0=bs- S« Sl
el 7 28 Rl - L'.rﬁ.,ﬂg}"bb@ﬂ » 2
3 28 lfa,ﬂarethcruotsof3x2——-5x+7-:ﬂ,thcn
product of the roots 2a and 28 is
10
1t = . - r* = 2 2 3
v " =u B t° = ku
FJL;/!J‘ e ui’) o2 gl dmataibiicidart | 11
Concequent Thjr_d Entremes Means Inaproportial a:b::c:d, aanddarc called
proportional
»:-JJL—-'/f el =l ehlsFal i L1 (x+ 3}2 =x?+6x+9 | .12
. An ) Anidentity | Anequation A hm_zar (x+ 3}2 =x2+6x+9is
mequation equation
¢ {¢} {¢,{a}} {a} Power set of an empty setis - Fniralfirde | .13
- (U»DomR #%R={(0,a),(a,b),(b,b),(b, | .14
0,a, ; 1 ;
{0,b,c} ta;be) {0.2,c) {0,a,b) The domain of R={(0,2),(a,b),(b,b),(b,c)}is
e b S P _q.t'Ll{}'JHIsL;f;.)r/J.:d_.}b 15
Secant Circumference Radius Diameter | A chord passing through the centre of a circle is called

B gl
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Part- I !
Answer briefly any Six parts from the followings,  6x2=12 .qfd:.gii.’/ﬁﬁlm ggdfa_wdjzw 240
Write two methods to solve quadratice equations. -L/:j Z Ju LSS UMGBun
Solve by Factorization 17x% +32x-4=0 17x* +32x-4=0 -Q)U’df.g;é i
Solve the equation using quadratic formula 5x* +8x+1 =0 . 5x +8x+1=0 _Ef_-':‘d':_,,.ilei(ﬁ;mf.;al;l,—* Aii
Find the discriminant of the quadratic equation 9x* +25=30x 9x? +25=30x -/ r:L" O mtsle B v
Evaluate (2+2@-20")(3-3w+3w?) (2.4'~ 20-207)(3-30+30%) Ered v
Write the quadratic equation having roots 4, 9 . ..{:“’ R %) udhuj 34,9 vi
Define direct variation. - sy S i
Find a third proportional to (x—)*, x° — y? f‘ (Ex ¥, x> -y _J(:Wwb I~ viid
(\
lfyoc%andyzd,Findehen x=3 /\s\{gﬁé;r:"’v{(ﬁ{?x 32 y= 4.ulync-1—/ ix
Answer bricfly any Six parts from the followings. ~ 6x2=12(! \J LS iF Nz i gedletditn 340y
Define rational fraction. (,.\ h\"’%r’ éw P 2 A g i
(x+1]3(x—i) =J:1 + x?] then find thi\.:?{g}ﬁ\;“ r#fzJBmA}'ﬂ (x+]):i'x~+l} = xf_? )’ i

Aand B O -2
Define intersection of two sets. _é._i_ifgf{fﬁ?ﬁ.u;r» At
If X={14,7,9)} and Y={24,5,9} then find X N Y _érjj"’ XY iny={24,59}X={14,79} S v
1f set M has 5 elements, then find the number of hinary _é‘r}"ﬂﬁ{,ﬁ;w&;gﬂhf!;u}fgbﬂiSLM/I v
relations in M.

IfA={a, b} and B={c , d} then find Bx 4 25 Bx A InB={c,d} sIA={a,b} A i
Define Mode. EE v el i
Find the arithmetic mean for the following data -gi_}}#yﬂ L}L’:_.:Iy'd OV IR 111
12,14,17,20,24,29,33,47 12,14,17,20,24,29,33,47

The salarics of the five teachers in rupees are as follow. u_‘rijc-,auudé..uwlf&f Lrléll; Ax
Find Range 11500, 12400, 15000, 14500, 14800 & 2211500, 12400, 15000, 14500 , 14800

o 1022 - 1024 - 50000 (P.T.O)
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Answer briefly any Six parts from the followings. 6x2=12

Define angle,

T .
Convert 1— radian to degree

Findr when £ =56cm , 0= %raa’

Prove that (1—sin® 8)(1+tan®8)=1
Define obtuse angle.

Define circumcirlce.

Define chord of a circle.

Define arc.

Divide an arc of any length into four equal parts.
Part I

SypP-1-2Y

Ll n B Linge $etdstn A4y
-‘«f/ '-2’/; J{‘_‘-’U

ot Mmﬁﬁr&:%

-
—

f =56cm ; 8=—:fmd .._..:_v_.u:fr,lw'r il

(1-sin’@)(1+tan’ @) =1 =t iv
VY A TR
SIS s N
JIw ke i
SIS o i
-g{fr‘:ﬁ.bﬁu:".{i,:;igfdfd’ljwfr ix

(2 -

Note: Attempt any Three Questions.Q.9 is compulsory. (8x3=24) & (W9 AU/ F izl eiivrf o (e d

Solve the equation vx+3 =3x—1

If @, B are the roots of the equation £x* + mx+n =0
then find the value of @*f” + >

Find a fourth proportional to

&
N\
- T . T 2 a,
PPHq.p -q,p -pa+yq ,.,_\\(’Or/
- L./
W </\
2 !
x“+1 3 . i Ay
Resolve into partial fraction. ~
3 .
x +1 A
‘/'\'\.‘l,‘ ~
N -

.
IfU=N, A=¢ , B=P then prove that
(ANB)=AUB

Determine variance.
Student 1 2 3 4 5 6
Marks 60 70 30 20 80 | 42

If cos@ = :52 and terminal arm of the angle @ is in quadrant

11T Find the values of retaaining trignometric functions.
Draw two perpendicular tangents to a circle of radius 3 cm.

Prove that if two chords of a circle are congruent than they will

be equidistant from the centre.
OR.

Prove that any two angles in the same segment of a circle are

equal.

Q,\E\,\

Py J:_cl_3=3x—1_:£.fﬂ.-..uu .a.5
(O
@é i fxz+mx+n=0.:.-rsl,»,8ra)7 b
x\\’ P S P
_2_’.-':.(31"'....-# AEg a6
- pg+q’°

P3+q3, PE __ql' PZ

S o Asa S b
x

fSetIU=N,A=¢ ,B=PSi a7
(ANB) =A'UB
_qf()l”q;’}' b

P 23] a]ls s

Vo 60 | 70 | 30 | 90 | 80 | 42

JL?#&&JL/E})LJ[}‘IKQ ~2linl cos@ = -_3—2 Sl a8

g S0 F

EEuv et sl vl gy b

JeiSalae S /-:?U.ﬂj sl et /i ﬁu:-:f‘ 9
Lun

-k
AL AL IRl oI B G R eI EE B
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question

paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
(Jil/r) -:'.-I:L-'Q’rc" il S i SUed ..‘a.fJJy +37* 4+ 6=0 bl 1
il : . =Asl . . Ak al-x

l =
Logrithanic Reciproca Radical ExGonslis] An equation of the typeis 3" +3°" +6=0
eguation equation equation equation
éi.-'-b’dj 33 81.'-&'.»3:6( él.i-l.ﬁ.t-uv_fl KLl - 1t F” I x e 5x* =30x 2
7 7 7 e/ Cancellation of X on both sides of 5x* = 30x
Loss of two Nolossof | Lossofone | Gainofone
roots any root root root e
J!;b":.-? 7
,— _3 2 -3, - o ) : oo 2 ' s 2 "'u-?—,._. . 3
3,—3w, 3w 1,-3w,-3w 33w,-3w* 3,3w,3w Cube toitsof <2T a5
L=k W, w? 1, -w l,w Two square roots_c?[an:!:?f;ﬁrc -LE&/'rJﬁr!:é:(jﬁ 4
i " ” i _%Ali@}u&:ﬁjg;i.,:4:5)1la+3:7+aj’l 5
1t
lfthc;aﬁﬁﬁ&\#‘j :7+aand4:5 are equal then ais
=, xyv .1'_0.". uxl" o (F’?\‘\)J .-q.wh‘.-r'ﬂ;f.ﬂu,ﬁx:y::v:w 6
vy : X v | TheTourth proportional w of x:y::v:wis
el AL | S N (I P @{{@ 2x+1 & G 2x+1 7
. An : A propes An equation rlnip et (x+1)(x-1) T (x+D)(x-1)
inequation fraction <<\ fraction
)
xed xeg A xEAQ\-ﬁJ xed If xeAdn B ,then ixeAnB| 3
and s and ang\l\{éf; and s
xeB x¢ B xeB x¢ B
{¢,a} {¢9.{a}} {a} {9} The power set of an empty setis - Frralfesds | 9
KusF KU i 'Y ¥usly oo ok B¢ 10
Triangles Circles Rectangles Squares A histogram is a set of adjacent.
1+ cos?6 | 1~—tan®d | 1+ tan?§ | 1—sin?@ sec’ @ = 1
4'4;‘9 Y (v e B s 0’( Bl ALl | 12
All equal All unequal Double of &l Radii of a circle are
Half of any
the diameter chord
£ 1 2 F ‘¥ i E - a
¥t Joi St ‘Sine¥e_71’ B unS P send Lol L | 13
Secant Tangent Cosine ) . o ) .
Secantof Tangentof | Cosineof a Sineofa | A line which has two points in common with a circle
circle circle circle circle is called of circle.
1o i1 S S y Lide L Lupusd oS e ,,{-m;e_;u..}_’r 14
: The arc opposite to incongruent Al
P P
erpendicular arallel Congruent | Incongruent shiglesof a circle arc always
_wély:'_hdvuf}“’g&u:fh?_ﬂf_ffu 15
! 4 3 2 How many common tangents can be drawn for two
touching circles?
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Part I ol i

Answer briefly any Six parts from the followings. 6%x2=12 .qf{j ..;Ll.?,ﬁ 4.‘1;7:;.:.:3;" ;u!;,bb.u -2 /dlr
Define Pure quadratic equation. jJﬂ-—- '_2‘9 -éq/JQIJPL;JJ:)(Jﬁ}LﬂB A

Solve by factorization 4 —32x =17x? 4-32x=17x" & PS50 i
' 1 1 I
Write in standard form +——=3 —t—=3 JJJJ_PJJL"[H]}L—“ —
x+4 x-4 x+4 x-— 4
Find the nature of roots of quadratic equation. 6x° —8x+3=0 _Zé-r:l”‘ rii S uj VAT BT ST
6x* —8x+3=0
Evaluate (13w -3w?)* (1-3w-30*)’ .y /Ff v
Write the quadratic equation having roots 147, 1~/ l+i,1-i -u.rzujsuf.:u'?u:'«.;»mr-{ﬁnu vi
If yc< x and y=7 when x =3 Find K. é;.-r;' J"‘Ks‘_vrx =3 2y= ?.ulﬁyocx; .vii
. f\;f )
Define proportion. ( \ -Eé'..y}’J....«L? .viii
= w\ g -
Find a mean proportional between x° —yz , i’ ; /\5'\3’ x* —yz 4 i qé’r‘ﬂ”gﬂidhj Ax
x+y X+
N
Answer briefly any Six parts from the followings. ﬂ:«iﬁ LS f 2P L $ e Bditn 34
~( ¢
< Q -
What is Partial Fraction. AN -7 i
)
I o p ”
Resolve ——— into Partial Fraction. (.p:??j & 2 21 o
X — 1 ‘/'\".‘ '5‘"‘ X _'1
('“"‘.:\.}‘\/’
Find 4’ ifU={1,23,.8} and A={2,3,5,7} # A=(23,57) 51 U={123,.8} fip Jp# 4 i
Findaandbif (2a+5,3)=(7,b-4) (2a+5,3)=(7,b~-4) .éqffk’a.EJb;,na v
Find LXM if L={b,c} and M={d ) # L={b,c} sM={d, e} fiu_{/r:h"LxM v
Write all Subset of the Set {a, b} : _éf..:.:frb?&{a.b} L i
Define Mode. _Ef;-':' it 7 J»l& vii
Find the arithmetic mean by direct method. _ﬁl r:i”hzle}L?a_ ] /”.:-{b;lz, viidi
12,14,17,20,24,29,35,45 12,14,17,20,24,29,35,45
Find median for the marks 82,93 ,86,92,79 82,93,86,92,79 -ZE e bW d  ix

1024 - 1024 - 32000 (P.T.0)
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o Answer briefly any Six parts from the followings.  6x2=12 LIz L e e Bdsts 420
Define degree. ﬂﬂ_l —~D 5! ..u_"/...,-?/"’-dei
Convert 6.1 radians into degree. ,J“)’J_,Q‘thﬁfg_{i“gs.l

Find the distance travelled by a eyclist moving on a circle of radius

1 5m, if he makes 4.5 revolution,

Find rwhen & =% radians , | =6cm

Define projection.
Define collinear points.
Define In-centre.
Define Escribed circle.

Define Polygon.
Part 11

£a5e K1sunk ol L i LarF L

W L1 bt

a =% radians , [=6cm .:..;:u:fr:J*‘r
LS F

ISy R

S PSS

LS Pl

LS S &
(2 2

Note: Attempt any Three Quéstions.Q.9 is compulsory. ( 8x3=24) q_djug/Jlf_qf.g’uuzéummt edfie

5.a. Solve the equation x}’+54_]5x}’

b. Ifa, [ arctheroots of the equation 4x* —5x+6=0,

al ﬁl

then find the value of — +2—

G-’ <’\
6.a. Ifa:b=c:d (a,b,c,d #0),then show that \{;:é::v
o (.“CI |
a |a*+ct A Y
sV A
b b* + ’“\R;W
, , ; 9x -3}
b. Resolve into partial fraction ——=+—==
(x+3) &+ 1)

7.a. IfU={1.23,.,20} X={1,3,579,15,18.20} Y={1,35,.17}
thenprovethat Y =X =Y nX’

b. Find standard deviation for data
11500, 12400, 15000, 14500, 14800
8.a. The given point P(3,-2) lies on the terminal side of @ . Find
quadrant of @ and all six trigonometric ratios.
b. Escribe a circle opposite to vertex ‘C"toa A4BC with sides
|4B|=5 em | |BC|=3 cm and |CA|=3 em

9. Prove that [ftwo chords of a circle are congruent then they

will be equidistant from the centre. OR

Prove that any two angles in the same segment of a circle are

equal.

\"gv v xS +54=15x" ci.waiJL-'

M\(H«;)quuﬁfix =5x+6=0=bl-a ﬁ;

%-F—;x— __ér,lv‘-_-,éd,dj_?;ﬂ

Sk (a,b,e,d 20) a:b=c:d i
a_|a*+c’

b \Vbr+d?

e -“,é—«.klidfu’/w?

(x+3)(x*+1)

X={1,3,579,15,1820} U={123,.20)} Ji
Y=X=YnX JZbd v=(135,.,17)
S A Sty
11500, 12400, 15000, 14500, 14800
K0 pie Bl L 9 LP(3,-2) ]
eSO F g B
L Sramge¥ABC elobe L 'C UL
(33 S LIS CA 2 BC < AB L
us
s fu;urr(_)'lb"'}'mﬁr_fh)’i é-:.r:f'
U PLPEE -Lusntedgi
L,gz_x/,n4{4qunél,u:a}b.:ﬁlﬁ.ﬁmr,ué.:&
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number.
question. Write PAPER CODE, which is printed

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

touching cirlces?

(D) (C) (B) (A) QUESTIONS Q-1
(x+7and | (x-7)and | (x+7)and | (x-7)and -LQJ}’?L;JJ-L:J:E: X-15x+56 | .1
(x+8) (x-8) (x-8) (x+8) | Two linear factors of X* — 15x + 56 are
_%/ _y ;/ y csdia+ ﬁ?u::;}::l&x’ﬂx -2=0=bl~ ﬁ,a/‘l 2
3 3 4 3 If a, f are the roots of 3x"+5x-2=0,then @ + f3 is
a , »° l,—@ 1, @ Two ;g@ roots of unity are _;_HCE,JU.I?» [.Jb’r 3
E ] .
4”'. b et " L] -
b y a+b x+y| a _ X b, !.'1;5'. _1':-*.._:,%@ -q.:.-f’j:’ﬁa: b=x:y A
i 5 -y |a-b x- ] |
g * Y # TIf @™ =xy, Then in¥ertendo property is:
ur?=1 | ww?=k | u=kv? ?I1f u < v?, then ) Juxv?fi| s
AR . x+2
A Bx Ax+8 € A Bx+C A . ;] 2 rﬁ'\)’\ﬁff—-——”fd";l! (x+1)(x2+2) 6
T+l itz | Tl Eez | x+1 w42 | x4+l xE+2 NN x+2
‘,!:’\?.qf_i:gf_f,ﬁ‘actmns of A (iD) are of the form
= P R\
S apll Sl "'-"U;-?,-\\{ > _;i_rufm:.w‘jgjf Sler |
Superset | Singletonset | Empty set S’ﬁbsﬁ:\t\ A set with no element is called
; , o H 4 e Jnn Sl L AxBInatBaSSKatar S| g
2 2 2 .\fwiﬁf‘\ 2 If number of elements in set A is 3 and inset B is 2,
A Then number of binary relations in AxB is
=i _;rf'fﬂﬁ’ ij,.'lg, & ...q:.t':f}lﬂ}la..i.fdi bt |9
Value Rate Scale Place Mean is affected by change in
ae | AL aof iy JH¥ ecdns P e ki f | 10
Y A deviation i d di f f
Constant Product Sum Histogram ths %v;;:g;:;:renﬁ:e 5. diffeerice ofaty viloe 0
1+ tan?8 | 1 —tan?d | 1+cos?8 | 1 — sin’8 sec’d = 11
L bl y: Ry et W biF re S Le | 12
; . - ial i int of the circle to th
Cheoifomiics |  Peacimetsr A SI::gul:nt i.;ﬁ;fii:f::l:in; i:{t:umrs,g any point of the circle to the
tangent¥e—s | secant¥e_fls caine B sine ¥e_ 71 pLonJ LSS Ll b L | .13
t . . ) .
tangentofa | oo ontofa | cosineofa sineofa | A line which has only one point in common with a
circle : circle ’
circle circle circle is called.
< bn__ .:Ji)d}r/fhﬂﬂ‘:dquflﬂo ,:ll.iij://b’d;u_.fl .14
(:] L+]
60 40" 20° 80 An arc subtends a central anglc 0f40° then the
corresponding chord will subtend a central angle of
"u‘!é‘: LEJVJ?&TLU)}IJL!?E.[J’» b1
2 5 4 3 How many common tangents can be drawn for two

3
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Part- I J:I

Answer briefly any Six parts from the followings. ~ 6x2=12 INOIY I Jod t:-l?lic.cjfc.gﬁd.i[,w 240y
Define exponential equation. .u”ﬁ i ;’J_..-l;L-ﬂdI/...:’ i
Wiite in the standard form = — = + 4 = 0 I -4 =0- S oA
Solve by factorization 4 — 32x = 17x? 4 —32x = 17x2.25 F§F 205 i
Find the discriminant. 6x% —8x +3 =0 6x2 — Bx + 3 = 0520/ v
Evaluate (1-30-307)’ (1-3w-3w®)’ ZErpad v
Write the quadratic equation having roots. 4,9 4,9 .u.‘f’g...-.h!.-‘ﬁm:dm_)j il i
Define inverse variation. .E:w;JJ.-‘;",cJ vil

1 - _ " ‘{f 4,,
aﬂcb—zanda—Ewhenb-ﬂr.ﬁndawhenb-E b= S%ﬁ\’ f a-c-b=42a= 3;;!&0( Jviii

" Vo A, '\.\ /:
Find fourth proportional f\'\i) a3 -fr}"‘ — 2 ix
p3+qd, pP—a*, PP -pa+q’ f) pP+q’, p*—q*, pP—pa+q’
Answer briefly any Six parts from the followings. 6!2#1@\' NPy .{.s:r:.ga.éf = Lits 32
Define Rational Fraction. (\ NS .(f’g -/ if Ao
«\\"
1

Resolve xz_linto partial fraction. ‘ 5\: E‘l _J,)’J.f uf.:r'/ds:z x21—1 i

Find aand bif (3-2a,b-1)=(a-7, 2b+5l"}

IfL={abc} and M={d,e.f;g} then find two binary relation in
LxM.

Define into function.

[fA={23,5,7} B={3,58} then find AUB

Define cumulative frequency.

On'S’ term test in mathematics a student has made marks of
82.93,86,92,and 79 Find the median.

Find the Range for the following weights of students

110, 109, 84, 89,77, 104,74,97,49, 59, 103, 62

(3-2a,b-1) = (a=7,2b+5) s b sta i

o LM T rM={defig) HL={abc) A v
I

AN T

et AU BInB=(3,58) A=(2357) /1 i

o fESSA

ALl e Lit el Lur B LS il

8.

Bt eerd LU A U182,93.869279 LS

e o Lot ix

110, 109, 84, 89,77, 104,74,97,49, 59, 103, 62

“ 1026 - 1023 - 60000 (P.T.O
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7.a.

B.a.

(2)
Answer briefly any Six parts from the followings. 6x2=12
Define radian measure of an angle?
Convert 30° to radian?
Find @, when £ =2cmandr=3.5cm

Simplify expression to a single trigonometric function

2x cot®x

sin
Define zero dimension?
Define tangent to a circle?
Define arc of circle?

Define Perimeter?

Divide an arc into two equal parts.

Part II

SG P~/ ~23 "
LS f ez Limge e Bditn 440y

LS LS b 2ol

e L300

Sy 035 r=35cm st £ =2em 2
& gl F OL S e

sin’x cot*x

0 g e
WAV

S Sw Ui in
AW gTN

LI o sand ST LS

rﬂ -

Note: Attempt any Three Questions.Q.9 is compulsory. ( 8x3=24) q.d)ﬂ?/d?ﬁ.ﬂf‘;; ezl el e fin)

Solve by Completing Square x*-2x-195=0

A

gxﬂ\f:.-éd’r-dfffxz 2x-195=0 =lsle

Prove that P r_,i\h;‘ e _é'-:cf'
S A\
¥y =l-nk-a)E-wy) =y = -y - wy)(x - w'y)
<7 ,r: \'I/ vl 4
s-3p | s+3q . 6pq O\ AT 6pq s—3p $+3q

Find the val ff— fs§=—=_(3\VV = I z

e values o e 3_3({1 p'ﬁw‘f s o /" s+3p o -:{ ,l:v_.J
Resolve into partial fracti *——‘3‘ 55“:3_3“"' — .)U:"” |
S501V ———isn .

e into partial fraction G-DED) ey Al e ($07

1fU={1,23,4,56,7,89,10} A={13,5,79} B={235,7)
then verify (AUB) = A'nB’
Calculate varience for the data 10,8,9,7,5,12,8,6,8,2

secf+1 secd+1
Provethat |—— =
sacd -1 tand

Inscribe a circle in an equilateral Triangle ABC with each

side of length 5cm.

Prove that a straight line, drawn from the centre of a circle
to bisect a chord (which is not a diameter) is perpendicular
to the chord. OR

Prove that any two angles in the same segment of a circle

are equal.

B=(23,5.7) A={1,3,57.9} U={1.234,56,7,89,10} /1
':fég:-fl."?
S P e 108975128682 317 Es

secf+1 secl+1 ,{
e ey =l
‘\’ secl-1 tunf ‘r .

éi_.JJé” S LS B bs o1 KABC o8 oyl §sl -

(AUB) =A' NB'

-x("5
IJ!:E_.;#-J(ﬁ;ﬁf)}'}d{:.}rfLd.-fbfé.:r.l."‘
_.;;..hnrf,;/":ﬁ.:-ﬁ

—g,{?LJ'I-‘:]-’.I‘:L-UEgFJuﬂnﬂ:;ﬁjwb_ﬁﬂé_-ﬂif"é—#f
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Notei- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1

PR S Al SAG L LB L 7|
: Tangents drawn at the ends of diameter of a circle are
Perpendicular parallel roncligttier.
t_f?(fUfJéfc_.FsLﬁJL?uEFJJIu;:r}J SeibLl| 2

75° 4%

£x oy

The length of a chord and the radial segment of a circle are
congruent, the central angle made by the chord will be
4 4 2 -wékLhJVJfﬁ'Ef_uﬁhé_nL;J’n 3
: How many common Tangents can be drawn for two
touching r:iI:-::[fas?_,(;_f1 2/
=bi~u’b’ +dac | _ —bt{F +4ac - b —4ac o —bt\B —dac \\\ («\—"J - Uridnn | 4
2 2a 2 2a o EIN
The ué;é%aﬂfﬁ)rmula is
A {?,.JJ )
-1,-w,-0?| -L-w,0® | -1,0,-0? | 1,—w,—@> 1 Clibe roots of -1 are -u{!....aﬂf,-.i.gé:‘- il B
(1',-\ \lt._ o ' =
AN .;..L'nh,f.)" 82 »i2a ium/, 92X -x-1=0 .:.f;L-ﬁra)'J &
-4 4 -2 ey ;\i-}@ | If o are the roots of X’~x~1=0, then product of the
AN roots 20 and 20 is
AN k 2% 3 - g |
2= Jx3 | y2 = x2 2 (5 42 = |0f 32 0= then iyvia=/i| 7
y kex y X ¥y 5\}? y- = = ¥ 3 y x3
uw'=1 av’ =k u=kv’ us=v IquC'.rz.then 7 ue v )'F .B
Ax+B T ) x-2
MB C |4, BxtC| Ax B (‘4 B el ord——— | 9
x=1 x+2 |x-1 x42 [x-1 x42 |x=1 x+2 e il
Partial fractions of m are of the form
e el Ll rde et ifis 2o | 1o
Subset Sigleton set Power set Null set The set having only one element is called.
1 v 1 I1 Point (-1 4) lies in the quadrant. .:"_.r.ﬂ'u:d;f-l LA |11
¥ Lo L ) £ -t 2K fle bl Qo L1K X2 12
‘ " Sum of the deviations of the variable X from its mean
Different ame Zero One is always.
PVl BN % ot Sy ) ccdis 5, K| 3
_ A Deviation is defined as a difference of any value of
Constant Product Sum Histogram | the variable from a
cos6 | sec?d 2sec’0 | 2cos%6 L = 14
- 1+sind  1-sind
Dia,;:eter 85.&? " ‘k-‘-: R‘:;” - _?.rwl;!ﬂhé--f}ra.){fd:(_.jb 15
Secant ttcumference 'S | A chord passing through the centre of a circle is called

—
@// 1027 - 1023 -35000 (4)
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Part I

Answer bricfly my Six parts from the followings.

Define reciprocal Equation.

Solve v3x+ 18 =

Write the names of the methods use to solve Quadratic Equation.

Prove that the Sum of all Cube roots of unity is zero.

Without solving, find the Sum and product of the roots of the

quadratic equation x*-5x+3=0

Find the discriminant of the Quadratic Equation ax’~7x-2=0

Find a third proportional of 28 and 4
If V oc R® and V=5 when R=3 Find R when V=625
Define direct variation.

Answer briefly any Six parts from the followings.
Define improper fraction. «,\\"
x%42x+1 5:\ :3 A

;

( -2)(’:4'?!)\ \

Convert into proper fraction

Define an onto—function

IfA={1,23,4,5} B=(2,4,5,6,8} then find A-B and B-A
IIfX={1.3,5,?. -.19},Y={0,2,46,8,... 20} and
Z={23,5,7,11,13,17,1923} then find X N (Y U Z)
1fA={123}, B={2,5} then prove that Ax B# Bx A
Name two measures of central tendency.

Define Mode.

Find the modal size of the shoe for the data

4,4,5,5,6,6,6,7,7.5,7.5,8,8,8,6,5,6.5,7

a&%z
(" o =
“\ ,. \'/
N

Jol o
LI f Mz nge S tditn 240y
u‘a».ﬂ/J_l:L»J;" i
V3x+18=x _/f i
AL YRPLE TS S ereBsss i
gt oA DG L3S St iy
e AL eFN S BL S B ¥

x'-5x+3=0

6x2=12

-ﬁr:‘"m{u/b’dexz =1x-2=0 =bl-Funn v

\‘f ) e ASK08,4 i
(\.
.w..m»_ﬁéf-# R JxR=32V=5us Vo B/ viii
f‘"\_;
o \9 FEffend i

Lz Cimge Sl Liditn 340y
YISy Y Ty I
LIS i
Gl SIS
A-BulB-A /r#IA={12345} B={24,568) [ v

x +2x+1
(x—-zj(x+3)

X={1357,..19} , Y={02468,..20}./1 v
XY UZ)y/r#72=(2357,11,13,17,1923)

Ax B# Bx A/ =#ia=(123} , B={2,5} /i

i

_u.‘.""’ AL ulenledS , i

_L,:;_E';Juh ' Jviii
-L{)?:b’lijJlfJI-%k;jﬁisu:fl-’:lfu;:?:f:" Jax

4,4,5,5,6,6,6,7,7.5,7.5,8,8,8,6,5,6.5,7

[0 j///’? 1028 - 1023 - 35000 (P.T.O)
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AmwerbrieﬂyanySixpmﬁ'omﬂwfollowings. 6x2=12

Findr,when £ = 52¢m , @=45°
Convert 225° into radian.

. 2
Verify that

:+cos€=sec9

How many minutes are in two right angles.

Define obtuse angle.

Define Tangent to a circle.

Define segment of a circle.

The length of each side of a regular octagon is 3cm.
Measure its perimeter,

Define regular polygon.
Part I

L£GpP-253

IOy Litgedfe Lt Ay

£=52cm , 0=45° NP
“Edevtyiifse
sin’ @ o

cosf '
_;,GLﬁu::‘Zufu.f:l'}Jf.fG»
i
_é...y,;JJb’d:c_/’b
e

-L,i‘.ff'}”..bub’wu{_("ﬂ?d’&iﬁf/b'-ﬂ

+cosf =secf

S P Sl A
(2 -

Note: Attempt any Three Questions.Q.9 is compulsory. ( 8x3=24) ‘,—_wgyfi}bf.qf‘/upg&..mrj edfied

Fa.  Solve the equation x*-13x*+36=0 S ﬁ'\! x*-13x°43620 S F Sl
b.  Find p,ifthe sum of the square of the roots of the equation r_,f\k\j d:4x1+3px+p =0 .*.-.IsL-*fl_Z-’_frJ"‘..:.-pr
4x’+3px+p’=0 is unity, ; L;‘j -:ul.:f...,_fl,n‘fb"uﬁfi(l{oots)u"ju
o >
x+5)'—(x-3)* 13 N +5) —(x~3)" 13
€u Sobe GFV -G _13 G+ -G=3' 13 .,
(x+5) +(x~3) (x+5)+(x-3)> 14
Tx-25
b. Resolve into partial fractions B _.’{f J:”! S Sz
(x—4)(x-3)

Ta  1fU={1,23,.20) X={1,3,79,15,18,20) Y=(1,35,.17} X={1,3,79,15,18,20} U={I.2.3,..,20}fl

thenshow that Y =X =¥ n X’ Y-X=YnX =} Y=({13,5,.17}
b. Calculate variance for the data 10,8,9,75,12,8,6,8,2 10,89,7,5,12,8,6,8.2 -ér;‘“" = ,,c‘T Ky

+ + &
B Verify the identity, IsecO+1 _sech+1 [sec@+1 _secf+1 Ay

secd -1 tan & secd -1 tan &

b. Inscribe a circle in a equilateral AABC with each side of é’bﬁﬁgr-_ﬁ.uﬁ_a}lu:"b’ABC%{’,ﬂ-imdjLw
length 5 cm. S dug
9.  Prove that perpendicular from the c2ntre of a circle on achord t'f_i;"’.nfw u:f.;}su((:..f//_'c_..‘f'hfé'.:.;t‘
bisects it. OR —l -

Prove that the measure of a central angle of a minor arc ofa
circle, is double that of the angle subtends by the

corresponding major arc.

:r-".;djff & e 2?7 ucr'_.ﬁbdffgg.:.:f'
_:.;'_rﬁm:a.gjljxy‘féu,/:{,f;m&l;ﬁﬂﬁ
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ach objective type question as A, B C and D. The choice, which you think, is correct; fill that circle in

front of that question number, Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink rernover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1 |
1—tan?@ | 1+cos%0 | 1 +tan?@ | 1 — sin’@ sec?d = 7 I
Ji..g 7 /!5 WY :F_VLE'KJFE{..«E’.'/(/:.,.B;J(J:J!: 2
An arc Chord Diameter Radius The distance of any point of circle to its centre is called.
Sy y s A ety Ll Kl | 3
Centre Diameter Chord Secant A circle has only one
S ) S S g | Lux FATostZcuim P e iS p S | 4
Over A pair of chords of a circle subtending two congruent
» Parallel lapping Congruent | incongruent | .entral angles is
-Lﬂébdébhdff’é’ﬂu:mﬁw,-“u .5
4 I 3 2 How many comnzﬁ\;\angents can be drawn for
disjoint myg;lqgl
[ XIS
(x+7and | (x-Nand | (x+7Nand | (x-7)and 6‘\;0 7 i BOsLnl P -15x+56 | 6
1S
(x+8) (x-8) (x-8) (x+8) {ya’lm&arfacmrs of x>~ 15X + 56 are
= fadl
le_ﬁ,lrﬂ bl b _,ap.f‘ \L -q_dﬂé/;dbi_.lul.}:_-..ru’ﬂf‘fr £,
Harmonic lg E ~ | The most frequent pccunﬁg observation in a data set
| mean M Made e 7l igcalled.,. - Y ik
S PR, £
¢ ‘J-‘ |". : - Ik .
Ti~1 1, —w I~ | @~ P LOAuenl | 8
Two squaﬁ; roags of unity are.,
\~*-i.' R ha‘{r‘.} -
0 " 1 : 1 e AN Al | o
Sum of cube roots of unity is
1 ke o X |
2 — A3 | - 5 — z —
y2=kxd | yP=x% | y2 = ;,.,z_jc_3 Ify? e = then Iyt /1| 10
by a¥b x4y | a 5 a b _;.;_,:.-f*'f?ﬂa:b*——x:y)’! 11
PR by |a=b 2=y | 505 . .
4 If a:b = x:y,Then invertendo property is:
5 x2+1
- .12
Ax+8 ¢ 8 A Br+cC A B wdﬂJ{‘J ”/d,jJ (x+1)(x-1)
=+l e | Vet | Ve eaEteeT [ rritr—a %R
Partial fractions of —————are of the form
(x+1)(x-1)
o - “ [ e b ABA-1,8)08 | 13
Point (-1, 4) lies in the quadrant.
e 2l L rde et n 0SB S | 14
Subset Smfi:mn Power set Null set The set having only one element is called.
oy Lt ke Sleos et By 2g | 15
Viitiice Mean Mode Mediati The fnealsure. which detefmmes the middle most
observation in a data set is called.

1017 - 1022 -60000 (4)
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Part I
Answer briefly any Six parts from the followings.  6x2=12

Solve by factorization 4-32x = 17x° 5 "0’4 ‘nl-?_

Solve the equation by quadratic formula 4x°-14 = 3x
Write the names of the methods for solving a quadratic equation.
Write the quadratic equation from given roots 3 + 1[5 » 3- \E

Evaluate @’ +@ -5

st s
LS f ez Eimge S e tditn 270y
4-32x = 170" ZE S 20
ax’-14=3x ZEF e iy 5L isaFis
HNL YRS EE T S tniBss
342,32 @enGune Sl s
"+ @ ~5 g
MeAWPuL 2pP+3qx - dr=0 =il

Find the sum and product of the roots of

equation 2px2 +3gx-4r=0 :/- \ -zé}.-h"_,,-‘nj‘b
If RocT? andR=8 whenT=3 find R when T=6 X ;é?ér#'a IT=32R=8 s Rec T Ji
Find a third proportionalto a’ - b’ , a~b . Hf\i “H a’-b",a-b _.{L:r,v""._-'l:-'-fff
State theorem of componendo-dividendo | r;\\j = -ni'LJL'-.-#JJ"‘y ,._J},.i:—-*
Answer briefly any Six parts from the followings. i{kz&u L f e Lz ge $a Lits -3 /Ju——
Define rational fraction and give one example, x::“\) % SaJeLinst oy 75 P

,& ™
How can we make the partial fractions o{ “x -u".’lj'c @*J%D}‘Jﬁrf Szl 2
(x +a)(x—a) x+a)(x-a)

Define ordered pairs. _f-f_f...é,f /"" u(f_izg' )

Y =Z%*, T=0" thenfind ¥ NT
[fA=N and B=W Then find the value of A-B
If X={abec} and Y={de} thenfind ¥ X X

For the following data find the harmonic mean.

X112 5 8 4

Find the arithmetic mean for the set of data
12,14,17,20,24,29,35,45

What is Commulative frequency.

YNT &ek7 Y=2%, T=0/
A-B ZE#*JA=Nand B=W.J|
Y X X&Ep+F X=(abc}, Y={de))i
P ETAL Lok pin

X |12|5(8]4
P LKy
12,14,17,20,24,29,35,45
. 4

1018 - 1022 - 60000 (P.T.O)
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Answer briefly any Six parts from the followings. ~ 6%2=12 LS ehnF Linge e ddivn a4y
Convert 2—;— into degrees. %D i"q,_n _:giiguﬂdfifg;
Find /,when 8 =180" ,r=49cm 0=180" ,r=4.9cm .ﬁé}'}"!
Verifythat tan‘ 6+ tan’ @ = tan® § sec’ tan* 6 + tan’ @ = tan’ @ sec’ @ S =t
Define coterminal angles. ZEy Pl
Define obtuse angle. . _g-':_ér/""Jz,,ii,?):’
Define Tangent. __i...._ig /‘T Ju’ v
Define chord of a circle. -E.g...,'q/;’.J}:B'L.}I:
Draw a Triangle ABC |AB|=5c¢m,|BC|=3cm, |[CA|=3cm ' |AB|=5cm, |BC|=3cm, |CA|=3cm -Z-:ABC &L~
Define Polygon. oy Sl 2

Part I (2 2
Note: Attempt any Three Questions.Q.9 is compulsory. ( 8x3=24) .,-.d.:ug/dw.;fj..,yﬂ_‘._.um;: Jfied

Solve the following equation ux*=9x"-4 \J\ k' = ox'- 4 -.éwfh.ﬂj.’lr‘dlb.ﬂ

If @, f are the roots of the equation 4x"-5x+6=0, then ﬁ;{agﬁy;‘u.«w) 14X -5x+6=0 =il t, B/ A

find the value of a_’- + Ei ol \r__’;\J a —_ + ﬁ— _ir.J”J

a \{\ e~

[f 10 is added in each number of the ratio 4:13, we gqm a@w( 7 (A Je12eG Fiy ST 1008 0 ,.;.J: #1321

ratio 1:2 what are the numbers? \, ,\\V N\ ‘-'L.EL'GUGILEL;

Resolve into partial fractions (—I%Q? - ) (:i;% _éﬂdg/dsz

IfU = {1,2,3, ... ...,20} D U={123,....20}

X ={1,3,7,91518,20} Y ={1,3,5,..,17} X ={1,3,7,9,15,18,20} Y ={1,3,5,...,17}

thenshowthat X =Y =XNnY X-Y=XNnY Sy/eti

Determine Variance. U/ r’:"’ = ,c"T
StudentNo | 1 | 2| 3| 4| 5|6 A | 1|23 )45 |6

Marks 60 | 70 | 30 | 90 | 80 [ 42 A 60 | 70 | 30 | 90 | 80 | 42

Prove that sinf(tané + cotf) = sect sin8(tand + cot@) = sech &;{-:-:t‘

Circumscribe regular hexagon about a circle of radius 3 cm. _,L):(EJM r#" ’ /-vwf gt UK AL

Prove that two chords of a circle which are equidistant from (%) J. L LseLeldlifals e i Hs é.-::.?

the centre are congruent. OR S | Y.

Prove that the angle in a semi~circle is aright angle, ina i R bt sli LG L 13 2k ik fsliﬁgaﬁ

segment greater than a semicircle is less than a right angle, in Bl e ady Metr vl et e

a segment less than a semi-cirlce is greater than a right angle - brliz Myt Jae

1018 - 1022 - 60000
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

.._......-......._____:,A‘}ulu

L2002

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
sin @ 1 1 )
- sin @ - sec 8 cot8 = 1
cos @ sin @ cos 6
Ui S0kl L el U Ak £ Lo B L | 2
An arc A chord Diameter Radius The distance of any point of the circle to its centre is called.
a_ﬁ}d‘.;ﬁdf .;.ﬁ.-!-:'f .;H'ﬂ'.u .;Lli"u.; _;.Eb’fc_}uu'b-'..f! 3
Nopointat | Singlepoint | Two points | Three points | A tangentline interects the circle at
all
i _f, Vs J"I.F' /;;' L)'. [ L u:fulfu’;fuw i;.u.r;mc)’-' é_-JU(J:u:‘JJ 4
. A pair of chords of a circle subtending two con, t
Parallel Overlapping | Incongruent | Congruent & égg]‘;nllzz: arad i eneimg gruen
2 L e " . _,q?l_\i-;;?é.l'ﬁ,:slju‘f Seibaid |
5 4 3 2 Angle ifscribed infa semi=circle is -
Py A N
- AN T -
PR YY) ehldied SAslefiie | by o ai}},\{;‘.\fl ELL}U-"(H‘"3X=+ X -3x+2=0=lsls | 6
Quadratic Exponential Radical Reciprocal | An, tion of the form 2x"-3x +7x°~3x+2=0 is
Equation Equation Equation Equation ‘6515\@&*&’ ‘an
[ AN . g
3 -1 1 0 {\:'{\,'~ (j‘,, fmen -ﬁ"_.._.;fvb‘bb/‘..)ﬂbjgém i
(L% | Produet of cube root of unity is.
Real. (P Roots of equation 4X’-4x+ =0 are
Irrational Imaginary Unuah;il Real , equal
FJ{_"‘/"'!J 2 gf) c{_'b': —-ng-u{fc)ﬂbwa:b::c:d\-'ﬂ'—t: 9
rth ;
Consequent pruii:licnal Extremes Means Inaproportiona: b:ic:d,band care called.
x vy xy e wAEZUX iy viw |10
i) xyv - g4
vy x Y The fourth proportional wof X:y:iviw is
Jy{_‘/JF Al /n_-?{!/;’ /..__-al: .rl:.JMJF.{U,LJ‘!!JE}L.?;JLb;g;:ﬁﬁ(ﬁ{ﬂf/ A1
Algebraic A ; An improper A proper A fraction in which the degree of the numerator is greater
relation it i fraction fraction or equal to the degree of denominator is called.
5 5 6 4 _‘LsﬁxlﬂJdﬂFL:{'#‘;L{ 1,23} | .12
The number of elements in power set of {1,2,3} is
-‘L-E‘HJ:D:A U B;UKMJ?‘//?B A )‘I' A3
BuA ) B A
If A and B are disjoint sets, then A U B is equal to
Cueui V-4 11 Jlr’ijuf 2 Jf:"(jur -'é-t‘ljfr ;rm,,tJ’ J [‘-"-” Urad | 14
Paliggen Histogram Un%l‘:tl;ped Grg:tp;ed A data in the form of frequency distribution is called.
¥ le Ll L1 > -cl'_’.":f..f:ﬂ.nff-jlflc.bﬁdpéif ‘X '/:Z‘"{f( 15
Sum of the deviations of the variable ‘X ' from its
Different Same One Zero mean is always

1019- 1022 -55000 (3)
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Answer briefly any Six parts from the followings. 6x2=12
Define exponential Equations.

Solve the equation by using quadratic formula. 5x2+8x +1=0
Write the quadratic equation in the standard form i + i;- =6
Discuss the nature of roots of equation x*+6x-1=0

s
Evaluate (9 +4o+ 40’ )
Without solving find the sum and product of roots of quadratic

Equation pX’~gx+r=0

I3 ..;.4/

28 Sl
-~

sx*+8x +l-U-JIJ¢.U.V‘;l§L;.uJu(uhL-‘
i . = . d‘ﬁgﬂr‘v{ldﬂv;ﬂhb@ﬂy

I+1 x
x*+6x-1=0 -é&érUfJJ:JLQ!JL-’
(9 +40+40’ }1 A O

_érﬁvﬂd‘imu:fE’uju,éf_ég}’f..-..ul.a-
px1~qx+r=0

Define direct variation. \? ;:f -fi,":n-é.’ f? d, .:fl.;,é’-
Find fourth proportional to 5,8,15 5) Y rﬂ#._,,-r;u?gs’s 8,15
e \.1 w
1 \
If y o — and y=4 when x=3 find x when y=24 ,rfku\f‘ =24 .Csé.r:l""xfxx-fs._oy-q-ul yoc— f
X ol \_,/1

Answer briefly any Six parts from the followings.
x-11

(!‘\

. s - 3 N
Resolve into partial fractions ———————— QO
(x—4)(x+3) <V
T x\\
Define a rational fraction. N ‘5\ S
{"-".'\.\/

~\.

IfX={1,4,7,9} and Y={2,4,5,9} then find X ny
ifA={a,b} and B={c,d} Thenfind B X A

Find a and b if(2a+5,3) = (7,b-4)

Define a subset.

Define class limits.

Define mode.

The marks of seven students in mathematics are as follows.

Calculate arithmetic mean.

Students No | 1 2 3 4 5 6 7
Marks 45 | 60 | 74 | 58 | 65 | 63 | 49

6:25@\,“’ L f ez Limge e Lditn 3 / iy

x-—11 o )
(x—4)(x+3) L 7
SN

e X N Y IY=(24,59)4X={1479}/1

L& B X AlnB={c,d)sA={ab}/]l
(2a+5,3)=(7,b-8)./125 b ta
Hflerd

Efnwella

Pl

§Us Aotz sinmng A 2R P L uF Mol
e Gt

2Sf¥ 1234567

Aul e | a5 60|74 581656340
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5.a.

6.a.

7.a.

-
Answer briefly any Six parts from the followings. ~ 6x2=12
Convert 45.36° to D°M'S" form
Find f,-when 6 =180 r=49cm
Verify the identity (1—sin@)(1+sinf)=cos” @
Convert into radian 315°

Define Obtuse angle.

Define Secant.

Define Escribed Circle.

Define tangent to a circle.

Draw an arc of any length and divide it into two equal parts.
Part I

$60-G2-3>-

L F ez Limgadfetdito 44 0y

SIS L DM S" £45.36°
r=49 («6=180" .Eéf-,i})"f
(1-sin@)(1+sind) =cos’ @ sotfed

315" ZE U Lk

-’:‘é--i‘/JJg’”-?/p

Ay Uit

oy Jdndl

ol et

-éﬁjuﬁuﬂxus:ﬂ;mlﬁuiJﬂyd{
(# -

Note: Attempt any Three Questions.Q.9 is compulsory. (8x3=24) .;.wug,-‘drr,..;fjugrzﬁuuwt PN 1o

Solve the equationVx + 3 = 3x — 1 (F4) , \”\*"_Jff'\}x +3=3x—-1zisi-
If &, aretheroots of the equation Pepx+q=0, (/4) ;adgwﬁﬁu:ru}uﬁx +px + q=latsls A
(4 /'--5\\%) ﬁ
form an equation whose roots are — , — (1 \S) v uyr— — u” L =t
2 N\ p
G x+2y | xt22

Using componendo — dividendo Theorem find the valu.q:@f = 2y e S - zwl /, Jw J‘"" _J/x,.lﬂ
x+2y , x+2z .. _ 4yz ~\ OV

x-2y x-2z T oy+z ~ Q™ HnxX = 2z ;2’_’.})"'._-4’6

=3 A ' x2—3x+1 ~
‘ e - S =1 -

Resolve into partial fractions E—-‘ﬁ*_{;;-ﬁs 02 (-2) -gZ__J.:Vu"u/dsx
(fU={123,.10} A={13579} B={235,7) then veiify U={123,.,10) 2 A={1,3,57.9},B=(2.3,57} /1
De-Morgan Law (AUB) =A'nB’ fet (AUB)Y = A NB 0/ irds
Find the standered deviation ‘S’ of set of number’s SEeb'S' i IS AH9.3,88,989,18 sl Emirs
9,3,8,89,809,18

Verify that sin36 = sind — sinfcos*6 sin36 = sinf — sinfcos?d JEE =it
Circumscribe a circle about a triangle ABC with sides J;(,_.;U‘L‘:I‘,JJ{,M.J’_'L;:,éuf[‘c.}r;,/LfI(&ABC
|AB[=6cm, [BC|=3cm, [CA|=4cm |AB|=6cm, |BC|=3cm, |CA[=4cm - !
Prove that two chords of a circle which are equidistant from u;c.l-ﬂlﬂldsl—»r_.f S R7333 L Sy St

OR

Prove that the measure of a central angle of a minor arc of a

the centre, are congruent.

circle, is double that of the angle subtended by the

corresponding major arc.

1020 - 1022
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Naolc:- You have four choices for cach objective type question as A, B, Cand D, The choice, which you think, is cm:ruul; ik that f:in.:lc i
front of that question number, Use marker or pen to il the cireles. Cutting or {illing two or more circles will result in zero mark in that

question, Write PAPER CODE, whicliis printed on this quention puper, on the bath sides of the Answer Sheet and (11 bubbles aceordingly,
stherwise the student will be respunsible for the sitvation, Use ol ink remiover or white correcting fluid is notallowed
(D) (C) (B) (A) QUESTIONS Q-1
cetFfud atax? + bx + ¢ = OztlefdaGasn | .1
4 3 2 ! ‘The number of Terms in a standurd quadratic
equation ax® + bx + ¢ = 0is
FUJ7JJJ£3I2 +5x -2 = G-.:JJL-ﬁ-CI /rl 2
) = 3 & ~cssa+
-5 S5 _ .
/_‘-} /;-; /, /3 ira, [} oarethe roots of 3x* 4+ 5x—2=0,
then @ + [ is
; ce bl axt +bx+c=0 =bl- | 3
] —h? A 2 s b o i i X .
—b* —4ac b* +4ac | b* +4ac | b tud The discrimination 9’(&@"{. +bx +c=0is
. . 1 e 2 e B /g}‘ - 302 g o ]}
o m Ead b B o 5@ . 2 — | Iry*© o =, Thept Jy- o= 4
J j J ‘f_'l | J _-__| + (;) N{\;{\I\O o X S
a=h x—y |a+h x+y f’l_ . f E - E ‘{\\t\—;"f _q;_:.-r:du_-i;a:b == x:yﬁ 5
£y b ¥ b v X by @ﬂi@ = vy, Then alicmnndo properdy is: |
= = " " _"-:ﬁ_fb \,J) -3“‘_-_-“ T 3-.'.1
] A (4 x 41 X
ek S -zl 2l Opfe——— g, s el e .6
erd’ / A / f_“u\“ (x=1){x+2) o O = {x-1)(x-+2)
A constunl . ' An improper ."";Jpj5 } f'l TN
Term An identity Gaitin !@%}]ﬂn g 1?@"?{::1#;1 [
AT TR ALt = = 7 ;
S%"’T T 1’:-?‘1‘ 1?\7..}3 et IS us i i S wbfes | 7
4 3 2 - 3 B 1 e g .
Q@Cﬁt % et ™ e different number of ways to describe a set are.
JRPT =] i = Aa E
o " . , e tusz AUB Jurer S B mali | 8
) ' IT A and B aredisjoint sets, Then A U B is equal to
-’-’-’-"L?L"’-LSUE uy(}'ﬁ'd’-gff_,i el B s -@b@?ﬁW@ﬁJFﬂ.&aﬁ ...... ;.:AJJ-‘-'L}:LIJ.'A‘Ui,é‘(dJA;(!Jf .9
Upper class ll;gwrc(rjf:rl_acs? class limits midpoints [na cumulative frequency polygon, frequencies are
boundarics SRS = “platted appinst
el Lol by ol e bbbl ndirazkls | 10
Informdiion Mean Median M The measure which determines the middle most
observation in a data set is called
1—tan®@ | 1+ cos*d | 1 +tan®d | 1 —sin®6 sec’d = 11
Sl (51 P L T R I g N IRT)
| Paimeter | ey | Diameter | Ciromteence | genirs Seaitods o b0 et he
U’Lﬁ U P sl _-__c.IFU.f.LS‘,JJU'?_.f.;:‘:.nc_.i-ﬁdsﬁi-'_..;IJ.J;] A3
Triple Double Equal Half Two Tangents drawn te a circle from a point -3 Z_x
vutside itare ol ... in lenpth.
E'::.._,_-;_,»’Juk‘fch_}b_.:;.b*t-.:rsljfﬁ[lu{.}rfhUDLEI,-J('rl..,{F 14
4 3 2 1 A 4 cm long chord subtands a central angle of 60”.
L I'he radial segment of this circle is.
E T n n -f_dh'xl.ﬁ‘(;:‘r:r}d:,:..f:dk‘\.lj 15
3 2 4 6 |_The measure of the extemal angle of a regular hexapon is

1017—-1021 ap - 65000 (1)
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Answer bricfly any Six parts from the followings. Gx2=12
_ : S g . x*44  x
Write the quadratic equation in standard form, g 1

1% 9
Solve (29: — -} = -
2 4

Write the name of methods o solving a quadratic cquation.
Find the discriminant of quadratic equation

6x* —8x +3 =0
Find the sum and product of root,

x2—5x+3=0

Write the quadratic cquation having roots -1 ,-7

ITY varics direetly asXandy = G whenx =

J’j-ﬁ- ————————— W—,‘?
S 1F b2 Ling e $f e it

£*+a  x

L 1 _u:‘gu.fr;{iuf{l:uf_:
o2 9
(2x~)t==y
_ﬂrfiu@)éii_fwﬂ:’bbL
_._._{':_-‘-r.rj"’a.»'fgj,jﬁ".;-'slﬂ*u
6x¢~8x+3 =0

..L,_{/r:"”(_}"iuﬂ.;:f(.:.
x> —5x+3=0

i -U'-'-EJ«;:JJL#(;»JJJJJL

_, ‘f) =20y = BJJIUL"J:&"U’{;’?})‘J”‘;
I“ind X wheny = 28 A\ © Yy =288 x &£
Find a third proportional to (x — y)z , X3~ _)/3 ¢ L(f_’)) (x — y}z . X7 — y?'-_d.{’r:("‘x.:.f{:;l
he x W . of i e _\\{‘;/M ‘J.- i_v' " j
Fuid i mean proportional between 20 45 ,--{[FOH 20,45 -0 L,
<0 } =
~5\ {}%‘/
Ly
P ’\"i. .
Answer bricfly any Six parts from the folllaﬁlh}g;‘ 6x2=12 _{_)_‘f..;/‘?.:.-ylﬂf"’.{ilzl{c_(jfcﬂgﬁdj@u )
X-5

, i A

lve into partial fractions Fame g A

ne a rational fraction,

= (1,479 and ¥ = (2,4,5,9) then fing
ANY

=0, T=0" Thenfid XU T

{ab,c} and M={d,e,f,g} then find two binary relation
* .5

¢ intersection ol two sets.

arithematic mean by direct method,
200,225,350,375,270,320,290

¢ frequency distribution,

Three propertics of arithematic mean.

x—5
XEpRx-u

2T Ll

T PR

GErdX = (1,4,7,9) and Y = {2,4,5,9)
XnY

XUT Zebin X=9, T=0+

JxL={ab,c)and M={de,fg} .

LxL z‘—_'r':""L;uJJ{'f

AN A DAY

S A VNN T )

200,225,350,375,270, 320,290
v S
_a"'@yﬁ‘o{Jm:L}L

1018 - 1021arr - 65000 (PTO)
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Answer hr:':cﬁy any Six parts from the [ollowings,
Deline dircet varintion,
Find a third proportional 1o 28 ang
Caﬂvcr{? to degrees.
Locate 22 :j-ﬂ m XYy — plane
Verily (1 — sing) (1 + sind) = cos?@
Findrwhen !l = 56 ¢m , 0 =45v
How many minutes are in two right angles?
In AABC aq = 17cm,b = 15 Cm,c=8cm,mep =7
Foran arc draw two perpendicular bisectors of the chords
*P_Q and QR of this arc,

5« P IT

1'.; C
Ox2=

) 36D-41~2)

12 _L{ch,[,mf-?f"ﬁszc_dﬂ;u:;_)szm 47

B e,

28 i g e gy 5

e :{—?E

It e —xy 22 ;-”

(1-sind) (1 + sinb) = cos?g L.

[ =56/, 0 =450 L
?wiﬁbrbgwbdu{;l)’r;;’l?n (
=15cm,c=8 Cm,m4LB =? 2 AABC (

—g-ﬁf’[fdufui_'Q_R_,uf-p_au,]_,Lbr;_g

=17c¢m,b

r‘_i.!..,..-.-._..........................,...-ﬂ?

Note: Attempt any Three Questions, Q.91is compulsory, (§x3=24) Q:..U’JUgﬁjdf{-q//_;u:aéif&u‘;ﬂf:’uﬁ&&ﬁ&ﬁ

olve the following equation using quadratic form ula
3 4

_éﬁ@@“iiU:’xﬁ{ﬁ;}n[&hbdji,ﬂﬂ (a)s
« (O3 4

= =1 AN s = — 30 §
X—6 x-—5 %@H X—=6 x-35
olve by using synthetic division if*’ and 3" are the roots of B ’L@\:) =sle3" ) ’/’I:’:Er‘d’r‘:"' t_fr}ﬂ.'fzi: (b)
¢ equation &% — 102 1. g = 0 ;,-'\{‘LM “Un S )t + Y=
o~ - - e .
nd the values of the [etier involved in continueq prupnriiqmj"ﬂ @rﬁfﬁfJﬁ“ngbJVL)fjey ()6
12,3p-6, 27 SO 12, 3p—6 , 27
o x*4+7x4+11 ~4 X4720011 - ;
_:-ulvuulupnn il ractiong (+2)2(x13) /\it’\{'ﬁ\j m c_{_}r" uﬂ_,u/du_p )
(\‘.\53./' )
I = {1,2,3,4,5.6,7,8,9,10] ™ = {—1,2,.3,4-,5,6,7,8,9,].I'JJ A Gu)7
A = {1,3,5,7,9} B = [2,3,5,7} A= {1,335,7,9} B = {2,3,5,?}
mverify (ANRB)Y = A"y g (ANBY =A"up SuS ety
A vacation trip, a fanily bought 21.3 liters of petrola -ﬂd{__.-JRU.O{JJ:/E/UH | .Hi.uulé\_ﬁ-l_f:-é_lg‘gux?‘: (h)
0 rupees perliter, 18.7 liters at 42,90 rupees per liter and Bes 140,90 ~723 5 ,‘J(jz_,_mz.godj,:;}ils.?
 liters at 40,90 Tupees per liter. Find the mean price per Q/rﬁ-“c.fﬂdbmfds/‘;_f.ﬁﬁut/u
1+8in8 1-s5ing e 1+85inf  1-sinp . o .
¢ that ‘__—Sm—m- ZCO&ECQ m—m—ZCGEEC@ r'f_f-_rl (ads
! two common tngents to two inlcrsccling cireles of radii J;-“"‘,;.f_"gr_u_rr"d.u!r":h_;fuiu;}bF_;ré‘_/df"’,; (1)
and 4 ¢m B e
 that! Any two angles in the sume segmentofa circle are z:l/_('*}rUJfL’;‘bL}fuﬂ).:ﬁlﬁ...ﬁﬁ{__:Fj.u{;f:fE?::.:L" <9
L S et OR-—-—-----' u—l—-uu{l----!-l-—-—- -L)_r.fqr_.ﬁ

that: Iftwo ares ofa circle (or of congruent circles) are

congruent then the corresponding chords are cqual.

u.v:ﬁ;wfiyﬁuta;wh_f s o f Uy S5 g
s g A L i

1018 - 1021arp - 65000
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e ..:";-'.',J_/"‘.(.."_u{."f‘_--Fr.p"u)fu-.;b_;u:’i:fu-lfé-:.-U.'n.‘_‘.-r".u'c_._u':(,h.-:|JL.‘J_.P.'-;_4Jﬁ,l.-'.f:-dh";,’;;(éﬁ_}iﬁ-u:&:é_il}.r:f{.‘.'-ﬂl."'.l:.‘l_rl.l“:_.‘fﬁai:é i i
L Qi ZnL Jn I‘APERCODE.;;.J".;,Q.«;_,,IIrJJ._Jl)fufm"_}_L%E'{J_f.r'l‘-h'x.rr""”.l-lﬁ'.f.!iur(iu::.;r’b(i,f,if.,.‘;_f!._.:_-/r{fus{l:e:.l_}
. _-l_'_:,f"‘dl':’Fb’h_ﬁ.}.""L u}f:.r...l.;-F..J.h';;H' __JU-LQI),.AJ'/“["G l,f.;u_r"d-dbl.cq,r
Naotei= You have four choices fur cach objective type question as A, I3, € and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

itestion. Weite PAPER CODE, which is printed on this question paper, on the bath sides o the Auswer Sheet md G bubbles accotdmply,
utherwine the stindent will bevespansible for the siation. Use of ik remover or white correcting (luid 1s not allowed

_@ [ © B[ @) QUESTIONS Q]
Iy pu Zs Ows cebar G A Sk |
Centre | Diwmneter Chord __aueant _A eirele has only one
u‘}"/m;.i;;:ugr,;af_ug:l,JJJumJ};ut.-;_}u._g 9
‘T'he length of a chord and the radial K. =l
75°¢ 60° 457 30° segment ofa circle arc congruent. The central angle

mide by the chord will be.

B b S E L it i S s | 3

e e e e e | e ——— e [ . . e 3 i

3 2 4 ] How many common tangents can be drawn for two
louching circles.
Cae®)mGxe?) | (=8 )ot(x=7) | (=)aniCx+7) | (et §)oots-7) Gl x? —15x +56 | 4
Cor7) and (x=7) and (x+7) and (=7 and | Two lincar faclors of x* — 15x <+ 56 are
(x+8) (x-8) (x-%) (x+8) PN
:;:LL}:;;? Jbt L';E"'AE L?’[;/:ﬁ —@a%’flx" ~5Sx+2=0cnl-] 5
niiibiii Rational Imaginary frrational | R"‘“sgj Shion 4x? ~Sx +2 =0 are
i ;mlJu-T oy . 3 N ©\>u¢hbbudfydg .bz e Oﬁ #
| MNatural ULt/; u.bt - #~ ) _u_?ujué:. ax +lx+c=0
b Irrational Rational Imagingly AT b2 — dac > 0 ,but not a perfect square then roots

I L /{\G s of ax’ + bx +¢ = Dare
Ij.z{j;f [j.JL,‘fJJ HJCL/* J'Mf -qI:_rH?(:'uJ:il ih .:..-“' R

_ Ihird lerm ('-'t_n,!s'-'_usu;l.!f___!__é_l.l.!g.uetﬁg&_ I Relaion. JAnariowsh aisealled |
A v Ay ' e werE S Lty iiviw |8
e Xyv = 5 . : _ '
vy x v | The fourth proporional w of x iyiiviwis
- N =
D(x) #0Bettd ¥ ()= H%Jw 9
bl fsan ol 3 g - s .
g &LV A Tunction ofthe form bu'?uy.:/_;rﬂ(x) »N(x) 7=
Quadratic An equation Nx)
A fraction Amidentity | F) = —— with D(x) # 0, where N(x) and
ciiation D{x) 5
| D () are polynomials in K ajfed.
{0} {0, {a}} {a} ] Power set of an emply sctfiSa, Mebrirsléerdb | .10

SEZA X Birai gt aes 1)
[fnuniber of elements in mﬁi 3 ...:‘:..d_rrJl.«.JJb;Iu

22 23 4 23
= and in sct B is 2, then nuymbe’ 4f binary rclations in
o - ] AXBis \J;i-" SN (W
8ly _:iﬁdb/ JI:’U‘F;//_-'; J’}"Lj".lf ili_I\"MJIfu:J,iJf:‘r K | 12
Circle Histogram | Ungrouped Grouped | s itaea in the form aP ’d“ncy distribution is called.
| data datn > 3
il ej!{.zfﬁ Jjb.;i_._‘.; _g -< g&?ggfa.f_/uff L-:H}L-’ 13
Equation Rate Scale Place Mein is affectedbs _iéc n
- 3 9 0
& " 5 5 6 = irtan® =3 [ 14
30 60 45 90 _ .
Iftanf = ‘\rg.[hcn 8 is cqual to
- d - oo — - 5
; d’ﬁ'b‘ L A S '{_l'l.l-r(.rsl.ll: s/ .:.}rfic_..fb A
| Secant | Cireumiorenco | Diameter | Radius | A chonl passing through the centre of u cirele is ealled |

1IN10__1n71 .+m_cennn £ 4 ) K



L s nflri,-:"uué,;...b;.._:g .,f_,."_JJrJ-'iu.ﬁ.rlJ
2017 ~19 10 2019-21 7% I LASIE(Fsesl2)1021
601/7’:1}'/ E:EF’ZIUX..:U 13 ;..a:ff ( LB LJ'"L-U"'LJ

Parteeee o __ 6D "62- %r__ﬁ____“_.__,n

Answer bricfly any Six parts from the followings. 6x2=12 Tb’{f,;;’.:.:yﬁﬂ?f_lzf.gr;gjfa BAVSIN _2/:;'Jh

Define radical equation, -ng""L_s'_'ﬁJ;,hL-‘d.rJ;
+4 —2 g

Wrile the quadratic equation in standard form i—-—z = 1—;— +4=0 u:“"'u.“pﬁd;l:w‘f..-_.uudm,
Solve by factorization. x? — 11x = 152 x¢—11x =152 _J/’Jd/’.:__'u (
Discuss the nature of roots of cquation. 16x% — 8x +1=10 _:i:.'. rL-"'IJLriuf.:.mf- 1
Evaluate w?7 + @30 + 1 w37 4+ @38 4 1,,4/?-,1".:__,5

. i : . s . 0 { i 2:,
Write the quadratic equation having roots. 1+i,1-1i - e andos L, (
IMtheratios 3x +1: 64+ dxand2 : 5 are equal. Find -...-A’JI: &%.Ziryﬂ Su3x+1:6+ 4xg,."""-’/ (
o
valuc ol X \"‘\ -L,:/r"‘.r"”‘
r_f
If y & —andy = 4whenx = 3, find x when y = 24<\ ‘}2:: 24 Gz 2 xInx = 32y = 4 nty o = /‘ Gy
G0
. OM P
Find a fourth proportional to 4x* , 2x3 , 18&}'\@\3’ -.’.-g:.r)"'..‘..fb:ﬁ;;ﬁlrx“ , 2x3, 18x5 (5
AN
\

o

Answer bricfly any Six parts from the lowinps: 6%x2=]2 _qf,:f:._lfﬂﬁ:"{;l:zugc_dfa_gﬁdibu -..3/:}|JI.r'

What is an improper fraction? -4;_13::?/.__.—?!:/3'* (

Resolve into partial fractions. (x—i-)_:;-ﬁ} h—_ﬁgﬁi—” -”.é-pkbjdxrfd:;&' (i

It X={1,4,79}, Y={2,4,59} then find X N ¥ XOY_Zrrinx=(1479), v={2459) /1 G
WY =z", T=0"thentind YUT YurT -'-::{.I"J["‘.}Jf T=0% Y=gt G
Define subset and give one example. E e Lt h_.a/”d, *Uf (v
Findaand b (3=2u,b= 1) =@=-7,2b + 5) G-2a0-D=G-7,20+5 Ji_gfrbbua (v
Jetine class limits, ,.:“;-:-..é-’/;JJJFUH}lﬂ Cvis
Vit is range? HI-;{H_E,J/TJ-:-’" (ix) Define a frequency distribution. u.._m..r—*/ Jr- U'J.A-*' (vii

1020 - 1021aLr - 55000 (PTO)
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Answer briefly any Six parts from the followings.

Detine inverse variation.
Find a mean proportional to 16 and 49.

Express the following into Dﬂ, M, S" form 125.45°

. 7
Convert the following to degrees. .

Define radian mensure of an anpele,

Verify the identity.

[ow many minutes are there in two right angles?
InAABC, calculate mBC whenmAB = 5§ em,
MAC = 4cm,meA = 60°

Divide an arc ol'any length into four equal parts,

Part. - 11
Note: Attempt any Three Questions.Q.9 is compulsory

Solve the equation by completing square 3x2 + 7x = 0

squation x* — 1Ux3 +9 =10

‘\f/
3&’
“ind the value olthe letter involved i inthe connrm@-ﬁa on

},x,18

(\i
x.’i
{x+2)(x=+4J

fU={1,234,..10} A={13579} B={14,77,10}

Xesolve into partial Iraction.

wenverily (A - 1) = A" v
wd the standard deviationof 9,3, 8,8 .9 3,9, 18
G, 4 : g
tan@ = zmdsing < 0, find the values of an other

Igonumetrie functions at €.

3 - . o
raw cirele which touches buth the arms ol anple 60
two chords of'a cirele are congruent then they will be equidistant
wim the centre, e ORe

the angles subtended by two chords of a circle forcongmcnl circles) at

s centre (con-cs;:onding centres) are equal, the chords are equal.

1020 - 1021arr

Ox2=12

(1 = 5in@){1 + sinf) = cos?o

(8x3=24)

S ez ALz e e 5t 4 Aty
i
SEE b A Laka9 11
125.45° £ ;6% " M, D" S titn
= Eder s ditn
A e b
R N VI
'-.'L,{}d:._,*-:g_}'b‘.'.;_Ju:u.gfﬂjfi;ﬁ'u ¢
mAB =5 (" Gzl mBTLAMBC  (
mAA = 60" sl AL == 4 d
u'_ff(:ﬂufuf’zu;t:fgff.,{idﬁ@.}d’r

F"JJ..“?-s.ag-—- e
i ,ﬁg,—"dry'_g_,r’f/juufcc.uﬂbﬂ.f ;—_,;j)‘/

\ \C 3x2 47y = G_S'{’:L.FL')/UH sk Ca)s

(b)

f\ _? "\ f
Solve by using synthetic division, if | and 3 are the roots of'the \,,L@V

I:'IJL"'.;.I'.,I'!’/I"—_.- p(“ LE"J’ Hra
+ 8 =10
r‘J"“_,ju/:_ ;;Cé_.;.:l:_._:_.ﬂi::fudt.tj,?;ﬂ (a6
8,x,18 _L,_ff

; (I >

(x+2)(xt+4) _q)’u:',blu,.uj/ljjj

U={12.34,..10} A={13579} B={147.100/1 (a)7

* =
—Ussta sl xt — 10x?

(o)

(A—=8) =4"u B Ay B
P30 EL9,8,9, 18 &b A ()
HJLJ‘L)L,‘-L ;OJJ’?SIH 8 <0 ustanf = f (a)8
—E'f—"'u'-r'ﬁl’“'nl=*1f/.:
_th-;-:_e’fuj.ul_.u}»{_’,_,__.-uGo"f:af’fm.- (b)
..L‘WIU}L‘::..)C(‘U;UJ‘FJ-;E}'}JJJ Lol e
. oy

i 0SS s NS L s i f o)

I Ertd a I I L Ui I st gt

-

- 55000 ¥
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(2016-18 to 2018-20
PAPER CODE 7197

Pah I TR I V0 R T w 'L-'t}'.'kd
222 20 &3

FL A 3 I Lt ene. LU e E Jirg (3632 £ 20 D #C B A 2l e Ly ke d

¥y H ~
;r.J"{ 24 i A s L

e LI i s

Note:- You have four choices for eac
fill that circle in front of that question nu
will result in zero mark in that question.

T

3§ B ke s 0t S JL/’F,; Sk L é..../., :’us}u b ....-_? -2_::;/;:_
Jﬁ/ I"p..'flibdﬂ.',.‘}' :’I“'{;uc ...".-J!'Uf
h objective type question as A, B, C and D. The choice which you think is correct,

mber. Use marker or pen to fill the circles. Cutting or filling two or mere circles
Write PAPER CODE, which is printed on this question paper, on the both

b Qo L 1L S s PAPER CODE

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
v tlgi,.;rr‘-'.a;;..}h(,-"; 1
90° 180" 270° 360° i S
A complete circle is divided into
; i . - : = - =
;,.f-':'(d"{ﬁ: (g yg v £ b0 .;J:';f...{f ¥ __ _-L}':JU'L;_&! 2
No point at all | Three peints Two points Single point |A tangent line intersects the circle at ’
JV AR b2 e e b BT | 3
Tangent Secant Chord Diameter | A Line intersecting a circle is called
R B WITY) .'.'-')LJ‘U’JG" =il oo =il Jl‘z\:-; .._f';. (jd, 34 T 6=0=nt-] 4
Quadratic Reciprocal Radjcal Exponential | An equation of the type3' + 37+ 6 =0is
equation equation | jon equation |afan _{~2)
)/ LW Fl
i ,." =) A "\_") i " -
@, mz [ y — @ r 1’4'3 1.,-1 o x;kf—-—) ) -'UE' d_/"JAf ”‘ﬂd{l 5
Vi ' 2 qﬁiﬂv jquare roots of unity are
2 i e $ g 3 3
4 e i = +> = @ (@:f’) “a’+ s equal to e @ +p| 8
1 H; U : - L"Li:“/ ‘a'Laber| 7
Proportion Consequent In aratioa : b, ais called.
gt — A ) u v
H—Vk H—H.‘. Iff—:-‘-_zkthe,n "-—-:—_.—f(),g 8
V W v w
' ; 24 _x+2 8
A, Bx AvtB C | 4 _t_r.;q-(, AL BT LSS A erd i D)
x+1 x*+2 1 x4+l xX42| x4+l "2 | x+2 x" +]
N4 L
Partial fractions of (x+1)(x° +2) are of the form
i — ..‘.-f.-s‘; :.-:J;_ - L‘!l:";r‘f E'fifl 511 10
Super Set Set FPower Sel Subset A Collection of Well-defined objects is called
g 8 5 3 e Gt S L ey (12,3} 11
The number of elements in power set of {1,2,3} is
2k b3l L}L—? e sy - dll-:/.u'-d': LTz ubic ot s | 12
Mode Mean Median Data The most frequent occurring observation in a
data set is called
o3l S T 28 e bW SR e SR g | 13
Mode Percentiles Quartiles Deciles The cbservations that divide a data set into
four equal parts are called
{+] (1] a 1;7 3?"
30 150° 135 115 2= iadian s el [
4 =" 4
i b e bu i 60° 4y rin L 441] 15
Tem 2cm 3cm 4 cm A 4cm long Chord subtends a Central angle
of 60° the radial segment of this circle is
1019 -- 1020 -- 58000 (4)
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Answer briefly any SIX parts from the followings:- 6x2=12 ./ zfebiz AL121 g el ttits -2

Write the quadratic equation in standard form and point out

pure quadratic equation. (X+7)(x—=3) =7
(,. 1 T 9
Solve L-A ) _1

Solve by using quadratic formula 4x’ - 14 = 3x

Find the discriminant of the quadratic equation
6x” — 8x+3=10

Evaluate (1-3@-30")

Wirite the quadratic equation with roots 0, -3

Express as a ratio a: b in its simplest form

4kg,2kg 750gm
2x-1 3

d;n)(u‘lﬁ Yoss 29 ..)_‘Ju'-‘. fxﬁd;&vi‘::-":{#-jn T )
(x+N(x-3)=-7

P an
NP4 =TT Ry

{ i Iy

o] =2 5 I i

| 2] e i

4x* - 14 =3x ’{J’.“_ I s Gasas (i)

-_r}”‘sﬁf"}b s S5 (iv)
6x"—8x+3 =10

(1-30-30") _zZbnd (v)
, -3 u‘ﬁ..:.-f:lw‘d;:.udl: v‘:;;ui'if-ﬂ: {vi)

Y f,@ﬁfu,jj/o a: b._.,ﬂ-r’ i'r.'w\-" (vii)
a s 4 kg, 2kg 750 gm
CER T 3, 2

g — T QN =5 BT R SRS P 2 - (viii)
Find ¥ in the proportion? 7573 s {/L@"_\\_.\) 7 ‘57375 a‘:r' ._J,v s
\." =

Find a third proportional to a" , 3a’

Answer briefly any SIX parts from the f@‘& 6:(2-12

?lg e A (i)
A2 L7 g e M Biditn 3

3x+3 Tr+3
Resolve into partial fractions T~ 1y, Golyxen) & S @
f\\a'i‘-/

Define a rational fraction.
if L={a,bc}, M={d e f g} find two binary relations in LxM

Define Set.

fX=¢ T=0 thenfind X7 ang X T

If X = set of prime numbers less than or egual to 17

Y = set of first 12 natural numbers then find X VT and XY

Write names of two measures of central tendency
Find Range for the following weights of students.
110,109,84,89,77.104,74,97,49,59,103,62

The marks of seven students in Maths are as follows.

S S i)

&L P (e £ LM IM=(d,e.1.g) ' L=(a.b.c}/ (i)

REy N ()

L XOT J XOT T =0 wi X =4 Ji (v)

= LKzl Lr" = 17 £ 1lx! J/“)l (vi)

B XY g XY G Y= erbiolited

et L i w8 $ L (vil)

b e S L oY (Vi)
110,109,84,89,77,104,74,97,49,59,103 62

:....J:Frl_)'.’p_":uf}.?gﬂné./:fﬁ u':d."pi.. u;‘-“-{.p.:.-v (ix)

Calculate the Arithmetic Mean.| student No s § us b

112]3]a|s|e]|7 ]| -FErreidee

Marks

Al

45160|74|58|65|631 49

1020 -- 1020 --58000

(P.T.0.)
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Answer briefly any SIX parts from the followings:-
Expressinto D’ M" 8" form 315.18"

Find £, when @ =60"30" , r=15mm

ina AMBC a=17cm b=15cmandc=8 cm,

Find mZA

Define Interior and exterior of a circle.

What is the distance between the centres of two circles
touch internally.

Define circumference of a circle

Define c"""ﬁ“ quadrilateral.

Define the inscribed circle of a Triangle.

Divide an arc of any length into four equal parts.

Part H

——

6x2=12 -d&i@&lﬁfﬂﬁlzl 7 == LLits -4
H LS M (i)

¢ = 60" 30/

ep* £ 31518
,r=15mm

(ii)
(i)

L P
c=8cmutb =15 cmea = 17 cm 2 A4BC J)
_Ef'::rjh' meLA v

i’.-a/.l

-éfué;b(.;!ﬁ a8l ekl (iv)

Yiheb Qs ¥ o Usi st AU g ot Saiitss (V)
By

& Pl o

 w F S A (i)

&y PSPl s (vl

-éf(‘” \_.!r"’zl..r;ln' !’J....UJJLJL{( (ix)

‘,p

(vi)

(4

S ABL e 19 ,/J!r_u/gf.._,w._ crde dlod
Note: Attempt any three question. Q.9 is compulsory Each Question can;%(s) 08 marks

Solve the equation by completing square 3x” +7x = (}

E-r n.,r"‘r C{‘/ ui'f-

31*@\?.1' =0

)

2t -..-'SL-" O)_

Find p if the roots of the equation x° — x4 p* =0 f\k\\:L - x4+ pi=0 i grveddp ()

differ by unity. ii\j -3} €1 (Roots) /s

2
aac}:— and a—3 when h=4  find @ when b= f‘f)”/ _-r,lﬁ_-_.ég’ﬂ...;_b—-fl_.,s_a_ﬂ,,faacglz-,fi(})_s
o\ <~/ % 3 .
s <§%@ ab=8_,
AN 9

o a . _ — S e # - #a

Resolve into Partial fractions 71152 (x-x+2) ,z;{L}:"’u- 85z ()

If U={1,2,3,4,....,10} A={1,3.5,7,9} B={1,4,7,10} then
verify the following A ~B=ANE
Find the standard deviation "S" of the following

numbers 9,3,8,8,5.89,18

—4‘— and cosf? = —;-

If siné . Then find the values of

tan &,cot 0,secl ang cosec

In the circle of radius 4 cm draw a Square.
Prove that if Two chords of a circle are congruent
then they will be equidistant from the centre.

Prove that any two angles in the same segment of a

circle are equal.

..... 10} A={1,3,5.7,9) »'B={1,4,7.10)./1 ()7
A-B=ANB 25 o pornf titn?

LE A SiAGNe L A S ()
9,3,8,8,9,.89,18

sl 8in@ = ;—3 S 0.8

_ujf{}”dénf cosect

..u:‘ b 5/11‘4’.(:- u'fq._ r" 4 1 K 21y ~..§i (lg-)

U={1,234,

I
v

sccd cot@ tané j,: cosf =

Sl (Solee )’:fu yux ;fﬁ"‘ Pl oM /’l ﬁ-:..:.ft -9
F
Luw

- d—ﬁa{-‘dﬁhuﬁd'ldo/l .-J’*U‘ ...f'i’d__ﬁl.-' 'r'....fl'.‘

1020 - 1020 - 58000
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15,/ F PAPER CODE 7196 L4 20 =3y
gég.f:i.!’;}l:.'ih?&ﬂv'd: ol s 2 u:f':i E_'.._.Jéllrar_l dfr/:{"ib’qi.ﬂ’i SEEZ D HIC B A ';';."-’I-"'L:-‘.E,'J: J g o |
,n-.L’{ 24 L ._'.5*,1’1 U L GF iz 6 e -2 erld e ufi._.;{: /».‘.-VL ;_./r..;' Uy whic L& S
N S § Ty I-Jr:{')‘;.,):b dm.*;}{i,?uf: N S 4Gl 'L S PAPER CODE
ote:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, ctherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) ({A) QUESTIONS Q-1
; 5 : . K Sos¥e g bh IV 60° ;S s (Ul 4 L] 4
A 4 cm long chord subtands a central angle of
B0". The radial segment of this circle is ____ om.
% % s% - bt Lo this| 2
An angle inscribed in a semi circle is
al =0 a#0 |af=hy,ax0 | @ thr+e=0,|p o p.o e Ptedent-Gon| 3
az( Standard form of quadratic equation is
-~ - w0’ ~lLo,~o' | -l,—o,-o" |Cube roots of <1 are . ._.-:f)l;jg.ﬁ 1| 4
a+p a-p 1 i;lﬁf\:“u” et L]®
afl ap @ a . p Tt a p
- 1346/” J‘; f}\ ‘\:\?_::” s tw afa- bes’| B
Proportion Consequent Reeléti«:ﬁfﬁ:_EiJ 'fn aratioa: b, ais called
vk u=wk 57 Lk’ If ===k then Fi=—=k A} 7
oy < v oow VoW
&> =i 3 L S+l x*+1 8
Aconstant | An identity Aproper | (x-D(x+2) ° F—* G x22)
term fraction
Lrsg wr e & b LS| 0
Super set Singleton set Subset A set with no element is called
(4} {qﬂ. {a}} é e bndralberdi| 10
Power set of an empty set is
{u;;.‘!- KUsih 7O e KU, J-"*-;..;r’-'.:’:ﬂ,!i’ 1
A histogram is a set of adjacent
Triangles Circles Rectangles Squares
uﬂﬁ: __t.'i?d'K :lr‘g_F:/'j»-f .;Ir"dis; =5 t‘llcr;'f;j: ;,pg!(‘-_-ﬁ.du;’ 12
Closed figure Histogram Ungrouped | Grouped data | A data in the form of frequency distribution is
data called
tan & 1 0 34 cosec’@ — cot* @ = 13
0 L A = eerd L1 Sapfart] 14
The symbol for a triangle is denoted by
M Zr 2 % e b Sdld ¥t L] 15
Diameter Centre Chord Secant A circle has only one

1021-1020- 50000 (3)
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Part —- w1 A G

Answer briefly any SIX parts from the followings:- 6x2=12 dqﬁfagm,ﬂz \Zl & ;.Jf;.u:‘_z, L .2

Write the quadratic equation in the standard form (x+7) (x-3) = -7 (X+7) {x-3) =-7 _aﬂ,r:r,-ud,-?,’;,:,p Gosrnn (i)

Solve the equation using guadratic formula _éJ'c. Je1Z b G 3 miss (ii)
6x’-3-7x=0 6x*-3-7x=0
Solve by factorization 5x° = 15x B5x2 = 15x -&f Fe 3 L SF (i)
Find the discriminant of the given quadratic equation 4’ -7x-2=0 -qff}”eﬂf O ¥ bl dor s (iv)
4’ -7x-2=0
Evaluate (2+20-20")3-3w+30") (2+20-20°)3-30+30°) oL ] )
Write the quadratic equation having foliowing roots ,..'1_. ..,J'}w[fﬂ 1 dh{Roots)u»J: & (vi)
('\
3+42,3-42 85 i\ 3+4/2,3-42
f\ﬁ\
$(o" s
Find the value of p, ifthe ratios 2p+ S5 :3p+4and 3 : 4 are ; a3 : 4420+ 5: 3p + 4;,.. li'rs“‘...z’ O p (vii)
o>
Find the value of p in the continued proportion.§; M Y u: 5 p 45/ éfr:j":.-f d p {viii)
A
’“\.\ - "
Define ratic and give one example. S N &5 Je Ll E,':J/JJG—""" {ix)
< \v
Answer briefly any SIX parts froff the fallowings:~  6x212 /2 Az AL 17 2 e tdivs -3
Tx—9 7x-9

Resoive into partial Fractions. (x ff}”(x 3) (x+D(x—3) _éfj;/d: 7z i)
Define a rational fraction. A A )
f X =¢.Y=2" thenfing XY e KOV 5y =20 X =0 1 i)
If A={a,b} and B={c,d} then find AxB and BxA. - b BxA ) AxB I B=(c,d} » A={a b} /] (iv)
If L={a,b,c} , M={3,4} , then find two binary relations of LxM &= i) G LxM i M=(3,4) L={a.b,c} /| (v)
Define class limits. - ’ff - ,;"u'ln,w Sz (vii) Define intersection of two sets. E.f-e };"J/Cf' L U (vi)
Define variance and write its formula. _ix/’ I Bnii_vf’g._xﬁ" (viii)
The marks of seven students in Mathematics are as SSaernd ida Sl U bel (ix)

follows. Calculate the Arithmetic Mean Student No. | 1 2 31415167 ;‘"_r}"‘knl._}u;.ﬂ:‘ il

1022-1020_ 50000 Marks. 45|60 | 74 | 58 |65 |63 | 49 PT.O
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Answer briefly any SIX parts from the followings:- 6x2=12 -/ /zfe\z AL 171 & e Ltditn -4

1
Find © when {=4cm 0= v radian

Verify the identity. (tand+cot&)tan = sec’ @

ina MBC a=17em, b= 15cm, ¢ = Bem Find m<£A

Differentiate between interior and exterior of a circle with diagram.

Define a secant of a circle,

Define circumangle of a circle. 2= i PSesi 20l 1 (vii)

Define escribed circle.

Divide an arc of any length into four equal parts.

Part 11

f:4cm,ﬁ:-%raa'ian ,,ﬁ-:_i;f'r}# r (i)

(tané + cot@) tan @ = sec” 6 _at-‘-‘.:.cl.'f..;-.‘fi.f (i)
a=17em . b= 15cm , ¢ = 8cm 2 ABC Ji (iii)
Jd'.f._-.r:"" mZA Jy

2 Eve LIPS rpmzubbe Ll (iv)
_ﬁ.f..?furd'ﬁgic.)’h (v)
Define diameter of a circle. 2= 3 2§ B ¢ (vi)
e e il
#:;é}c’”:,: JrPii e S JJLJO'( {ix)

-

(2 ==

A A8 L g e 89 Ay S fein & cttrifa $ s

Note: Attempt any three question. Q.9 is compulsory Each Question cames 03 marks

Solve 42%''-92°+1=0
Find p if the sum of the squares of the roots of the

equation 4x° + 3px + p> = 0 is unity.
ifa:b=c:dthen show that
pla+b)+agb:p(ctd)+gd=a:¢ &3\/
Resaolve into partial fraction. [“%w
ifU={1,2,3,4,56,...,20} X={(1,3,7,9,15,1820},
Y={1,3,5,...,17) then show that X -¥ =X Y’
Find the standard deviation "S" of the numbers.
12,6,7,3,15,10,18, 5

A tree casts a 40 meter shadow when the angle of

elevation of the sun is 25°. Find the height of the tree.

Inscribed a circle in an equilateral triangle ABC with
each side of length 5 cm.
Prove that two chords of a circle which are equidistant

from the centre, are congruent.

------------------------

Prove that the opposite angies of any quadrilateral

inscribed in a circle are supplementary.

o LHJ‘U‘r‘:L P T }{:*i.‘ And e b

Iwe i po st bex Ll Jigz. G i

42" .92+ 1=0 2 F 05

(_/)\

ﬁgﬂix +3px+p —OHJL—I-}!{_(:""‘JU p (&)
. L:..J_:i.nfh’.,lf/;_uu

SEaeima b=c:d 06

pla+b)+agb:p(ctd)+qd=a.c

9x—7 .
Gy YAF Lz ()

X={1,37,9,15,18,20}:U={1,2,3,4 5 6,....20} /i ().7
X=Y=XY S =27 Y={135,.17}
_’jgé'rﬂﬂ’"S"_ilﬁdJ_L_-v ()
12,6,7, 3,15, 10,18, 5
e 25% 32 i K Ly Le A0 LK =3n Ll 0.8

-éf’#ég!’ ’\!-:-51.!
S LB tatd ABC L LUl Sibr ()
_ﬁr"SJ{J

ot

&=k

-9

............ Loeeneeeees

O,

-
"]

1022.-1020. 50000



i () 2osh Sk f TSI Yo Gy B P g I 1 Bt (frzriz) 1019

o 55 (201547 to 201719 &) (@3S M) (B 4
154F PAPER CODE 7191 <20 s

BN 3 JL e LOmL ez Ll g J2- L &0 D HIC B A 2zl Ly i
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e I3 s 1Sy I Sns S0 2 &S el NE S s PAPER CODE

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is corfect;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
(x+7)and | (x-7)and | (x+7)and | (x-7)and LG sL L -15x+ 56| 1
(x + 8) (x+8) (x-8) (x - 8) Two linear factors of x° - 15x + 56 are
J‘t/:f J?/f J’-?qut J‘:"uu -@ﬁz£4x’-4x+ 1=0=bl-] 2
Irrational Imaginary Real , Unequal | Real , Equal |Roots of the equation 4x? - 4x + 1 = 0 are
3 A 1 0 -q...;if(.l-‘q.dfédﬂ 3
o The product of cube roots of unity is
= NPy N g ety Lxiy=r| 4
Ratio Consequent | Antecedent Relation In aratio x 1y, y is called
RV -
x xyv w xy ‘ ﬁ\ e Web WXy iviw| B
vy x v /| The fourth proportional wof x 1y - v: w is
LLu#d | v Uit =2 .p\frf\ g endgafla(ne 47 =250 +aox+ 162dv| 6
Three values of x| All values of x | Two values of x | One vaiteof xJ ThefMentity (5x + 4)° = 25x + 40x + 16 is true for
] .
# {¢.(a)} @ |8 g} - bnlralferdel 7
~NON Power set of an empty set is
s - - {1k - =
52 2 @l g o L ABIn2 LB s3I KL AN | B
~A™ If number of elements in set Ais 3 and in set B
N is 2, then number of binary relations in AxB is
I L & b o < Sukdtenos| 9
Circle Closed figure Square Rectangle |A frequency polygone is a many sided.

1 1
% ‘E 35 m _;- cosec 45° = 19

cos @<0;:tan <0 :.,.-z_b'ﬁg,tdu,/ﬁ'.:ﬁ} 1
In which quadrant @ lieswhencos @ <0;tan @ <0
bl 5 (51 e v et Wi biFpe B | 12

Line segment joining any point of the circle to
the centre is called.

v I 1 I

Perimeter |Radial Segment| Diameter |Circumference

Secanttc /iy | Sine ¥~ 7 | Cosine¥ei) | Tangent¥est | -t un S EndL el S| 13

Secantof a Sine of a Cosineofa | Tangent of a |A line which has two points in common with
circle circle circle circle a circle is called
& o gt e LSS sl L] 14
60° 75° 45° 30° The length of a chord and the §x..... .sl5§ 7

radial segment of a circle are congruent, the
central angle, made by chord will be

s The measure -< st L5 Sesidsp L] 15
3 of the external angle of a regular hexagon is

1019 -- 1019 -- 58000 (1)
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6 4
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Part I ol -

Answer briefly any SIX parts from the followings:- 6x2=12 ..q)}/.-,u.zﬂz: IZ! & ;.&fc.. 74 QJZ-,«.u -2
Solve x*-x-20=0 ¥ -x-20=0 /L )
Define radical equation. ..u:“g...g/"d/ =lalbsSaae (i)
Find the nature of the roots of quadratic equation Lo 5 Y0 5 ¥ DN S (ili)
3¢+ 7x-13=0 3x°+7x-13=0
Evaluate @ +@®" =5 @ + & -5 Slpred (iv)
Write the quadratic equation having roots 3 + v2,3-42 iu:’ﬁ.:..l;t.-dm.-db uju 3+42,3-42 (v)
Prove that the sum of all cube roots of unity is zero.i.e. L’ffﬁ-_ bt poar’ b’.,:ﬂl;j.-rl.?.& deszl = (vi)
l+o+o’ =0 l+w+a@* =0
Find mean proportional between 20 xy* , 5xy ‘o _/; ?Mi”ys , 5xy ..L,;)’,'}-f.,,—w&m (vii)
Find x in proportion 3x -2 :4 :: 2x+3:7 n\?\“\ O _L{/rPa,fJxL}:.,_’E'Ji.yx—- (viii)

e L\j;\ Ix-2:4:2¢+3:7
Define ratio and give one example. fo\& o~ e Lin g e (ix)
Py L__:
Answer briefly any SIX parts from the followings:-  6x2=12 LAz ALz P e tditw -3
x* +1 o I
Resolve the fraction 2 into proper ﬁq@{&' .2 ,_}:.":_,c Sand -Tr:l P
G
Define set. -’:f_: ..g}’:f ()]
If A={1,2,3} B={2,5} then find 4% B anq B x4 e Bx A i AxB ja=(1,2,3) B=(2,5)./1 (iil)
If U={1,2,3,....,10} A={2,3,5,7) B={(3,5,8} Find 4 and B’ JU=(1,2,3,....10} A={2,3,5,7} B=(3,5,8} /1 (iv)
‘Z:r’b’ B 2l A
Findaandb, if (a-4,b-2)=(2,1) (a-4,b-2)=(2,1) & #baa (v)
Define Mode. 2L v 8k (vi)
The marks of seven students in Mathematics are }/-,/.nfg}‘ bl U‘"L.:L WPl (vil)
45, B0, 74, 58, 65, 63, 49. Calculate the Arithmatic mean. ..f-f;f[‘:""‘idl‘ L}I.-’;,_E45. 60, 74, 58, 65, 63, 49
Find Harmonic mean for the data [ x |12| 5| 8 | 4 -g{ryf"mr_ﬁf(?g_'.f_ X |12] 5| 8 | 4 |ty (viii)
Define variance. -z—.f.‘-: - /"'J =< ,d'- (ix)

1020 - 1019 - s8000 (P.T.O.)



Answer briefly any SIX parts from the followings:

Cofiiert =X
onve 16

Verify that, cot& sec@ = cosecd

into degree.

Define obtuse angle.

Define circumference of a circle when R is the radius of

circle. What is its circumference.
Define Tangent of a circle.

What is meant by segment of circle.
Define diameter of circle.

Define radius of circle.

Construct a Triangle whose sides are 3cm, 4cm and 5cm.

Part Il

ex2=12 fSpfez L g M LLitn -4
Edashr B
cotd secd = cosecl (L .

) (IR
Kbt KN I RU e e w2 Le Sy

(i)
(iii)
(iv)

-é‘...i!/?{fdlﬂ'f.'r_fb (v)

eV i (i)

B a (vil)

-2 U (viii)

-UR(EAE A IV LA L S b als (ix)
( -~

- ABL e S8 Aoy Syfen L ctrife $ui
Note: Attempt any three question. Q.9 is compulsory Each Question carrl-‘gs 08 marks

Solve the equation 4x=+/13x+14 -3

Prove that

L+y+2 —-3ryz—(x+ y+2)x+wy+afz)x+ ot y+oz)

f (a,b c,d e, f¢0) then

1

Resolve into partial fractions

H'Q\"

AN
(N \<"‘

¥
rﬁ‘x\)
‘iv‘
(x+D)(x*+1)
If U={1,2,3,4,5,6,7,8,9,10} A=(1,3,5,7,9) B={1,4,7,10}
C=({1,5,8,10} Prove that (4w B)UC=AU(BUC()

—_—— e =

ace

bdf

ac+ce+ea

bd +df + fb

show that

Find standard Deviation 'S’ 12,6,7,3,15,10,18,5
sinf )
l-cos@

l+cos@ _
l—cos@

Circumscribe a circle about an equilateral triangle
ABC with each side of length 4cm.

Verify that

Perpendicular from the centre of a circle on a chord

bisects it, RN @ | = S
The measure of a central angle of a minor arc of a
circle, is double that of the angle subtended by the

corresponding major arc.
1020 -

x&\’

(_/)\ -J,U'f Ax=v13x+14 -3 =l () g
) SEet ()

<N ' by*} +2' =3xyz=(x+y+2)(x+@y+af)x+ y+z2)

> Feni@bodef#0) 2=2=2 fOs

d f
%
ac+ce+ea__
bd+a_’f+_,n‘b_[ ]f

e R i G
U={1,2,345867,89,10) A={1,35.7.9 B={1,47.10} /1 ()7
(AVB)UC=AV(BUC) gL - rC=(1,58,10)
12,6,7,3,15,10,18,5 - &% 'S S fular (o)
sin@

’I+cosf9 o
I-cos@ 1-cos@ -E 045 08

SC LB etorsbnn 8§ ABCEL Ll ()
-x(’4Jl_J
_zl'_l'f-i.‘.":JJ'wf{ 7 U{:'... /'}'L o 9

NP SV Y 1 SOy 7 PG T A .
-5 Eee b’t)‘:.. J;..-J'UJ:‘;L l/:.fu";'w >

ace
bdf

1019 -- 58000
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BL IS I3 Yo L iz ene & sz L ¢ J0R- L s D WC B A aA2 e L Jiry <]
Jr.k"{ 24 ..JI:I”JHT;')’ u:‘»ﬁ fdlﬂ-fﬁ 2 bl s wild L ;-de,i-f{', lr._’.-(L L.-/(.é Jru.fj".! wlic ...gi'.." _"J/fa.'..
e LA by s Iy F IS SRR e &y Siem Il LS s PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the siluation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
= o < 5 - rn____,_,,u,j;ga !’L{.JJ.{.‘_}l, 1
90 180 270 360 '

The semi-circumference and the diameter of
a circle both subtend a central angle of

/'4? L& ey A P e b enl Urtun sl 3Lz K | 2
Sector Segment Chord Diameter | The portion of circle between two radii and an arc is called.

The number & SE L i S S e Bon| 3

of methods to solve a quadratic equation is

-b? - 4ac -b’ + dac b® + 4ac b’-4ac' o -¢ {{f;_».::{dﬁb’ax‘+hx+c=0.;,lsu 4

i, w1 1, - L, @ 0,0 JTwosuaerotsoluityare G Ainl 01 | 5
Ifr_’I)'\.> -
. . s o (T v =
u=vk u=wk u=vk :.r—‘rf\ff'.i:_f\_,d If£=—=k.then ,,E:_‘i___k)" 6
(NN L VW
x xyv v o 2\9)_37 Wb Lx yiviwl 7
S\ W . .
vy x J‘-‘T':gv V. The fourth proportional wof x : y : v:wis
LLu#Ed | uHE v | il e x4 25¢ s doxy 16=t1| 8
Three values of x | All values of x | Two Values of x | One value of x| The identity (5x + 4)° = 25x° + 40x + 16 is true for
el X Lk .’.-:6; -& t‘Mn’-’K"L-"I Eul 9
Empty set Set Power set Subset A collection of well defined objects is called
S el i Lo S e tif (xlxeW Ax<101} | 10
Finite set Null set Subset Infinite set | The'set {x|xeW Ax<101} js
. ‘ ; = = I N3 2 e sl Ll bl
u---(.rﬁt E,,-f u;.-"...':—f'.?. 2 J’CP '¢,rfr}':_..’“ JJ yf'y'?{_ SL'{ b3 ,L;L;: 1
- EIEY Sufe AL e
Numrator Denominator Group Number |Arithmetic mean is a measure that determines

the value of the variable under study by dividing
the sum of all the values of the variable by their

2sec’ @ sec’ @ 2cos? @ cosé ST R 12
l+sin@ l-sin@ —
tan & 0 1 i cosec’d —cot’ 0 = 13
® 1 A Z etk 2L St | 14
The symbol for a triangle is denoted by
Afus | Ba - {IBE - B¢ Je by L] 15

No point atall | Single point Two points | Three points |A tangent line interset the circle at

1021-1019- 50000 (3)
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Part I sl -

Answer briefly any SIX parts from the followings:- 6x2=12 -/zfeizZL121 § el Lt ditn -2

Define Quadratic Equation & Give example. L Jes L{f ...Q/U O T ()]
Solve by factorization 5x° = 15x 5x% = 15x LSS A 205 (i)

Find the discriminant of quadratic equation 6x°-8x +3 =0 6x - 8x+3=0 -/ G ¥ahiaGan (i)

Evaluate (1-30-32")’ (1-30-30") _y/pi=i (i)
Without solving, find the sum and product of the roots of S S e s K Sl f )
quadratic equation 7x% - 5mx + 9n =0 7 -5mx+9n =0
Use synthetic division to find quotient and the remainder L M ster e inl S, dl.-‘i-'f:"(:";'. W (i)
when (X2 +7x—=1)+(x+1) \e\ff (P +Tx=1)+(x+1)
(o)
, o3\ P
Define Ratio. , ;,\g} ) S S e (vii)
If 3(4x - 5y) = 2x - 7y then find the ratio x : y. %\‘qvf‘f -e.fr:’-”x (Yo’ ¥ 3(4x - Sy) = 2x - Tyff (viii)
(“CI\,L/H/
Find the mean proportional between 20 and «ﬁl{}& U p’v..,.»wfs bl 454120 (ix)
Answer briefly any SIX parts fror;gﬂ@muounngs:- 6x2212 - ySferm ALz g M LLitn 3
('“"‘.'\.‘:-/"
U N
Define identity and write one example. P2 Iy eV ()
fA={1,2,3}, B={2,5} Find AxB _z..['!,-,h' AxBjeB={2,5},A={1,2, 3}}’; (ii)
Find 'a'and 'b'if (3-2a,b-1)=(a-7, 2b +5) L0 aain3-2a,b-1)=(a-7,20+5./ (iii)
Define onto function. 2SS AT (iv)

Find the set X' and "Y' if X XY ={(a,a),(b,a),(c,a),(d,a)) X*Y-—-{(a;ﬂ),(b‘ﬂ}-(c:ﬂ)-(dra)}ﬁ.‘{fr}vvﬂl'x‘ (v)

Define Median. 50 (vi)

Find Geometric Mean of the observations 2,4,8 by using 25 (% 1 (w2 8 bl bl £ 2,48 214 (vii)

logarithmic formuia.

Write any two Properties of Arithmetic Mean. & ey 3 b (i)

Find Harmonic Mean of the given data. I LTAL Lsrinis (ix)
X | 12| 5| 8| 4 X | 12| 5| 8| 4

p1o 1022-1019- 50000



Answer briefly any SIX parts from the followings:- 6x2=12 -J/zfe2 FLi21 ¢ = e L Sitw -4
Define angle of elevation. -ﬁ - ,JJ 1w (i)
137 1 3?r

Ede A T )
- -.efJ,:u..v/ (i)
ZE OIS L 21 (iv)
el BECL i (v)
ZE s (vi)
EE PSSl 2 (i)
SV e (viii)
-2 luRe (i)

Part 11 e -

-t /208 Ll - 609 Ay Sy fein L ctrfc §fud
Note: Attempt any three question. Q.9 is compulsory Each Question carrra; QB marks

3)31 +5=8x" -éd'f...hl.a(jnd: O.s

Convert E to degrees.

Define obtuse angle.

Differentiate between the sector and segment of a circle.
What are you meant by secant of a circle?

Define segment of a circle.

Define In-centre of a triangle.

What are you meant by polygon?

Define geometry.

Solve the given equation. 3x?+ 5= 8x™

\\\
Solve by using synthetic division, if 2 is the root of niy ﬁ? éa\eﬁf!ﬁt +48=0 b2 201 .-f J’(j d!z.gu ()
'
I\ \J
the equation x*-28x +48 =0 @ NS
& LOM
Find the Fourth proportional to \ <er\ p’+q°,p’-q°,p*-pq+q’ ...;_,f/ pl"..,fl-? "7 0.6
AR
p’+q’,p’-q°,p*-pa+q’ S
A
S 3Ix+7

—Ar?—
Resolve into Partial fraction. 3)(x* +4)

+

(x+3)(x* + 4) ~dfa}"’,uf/d;7 ()
i e L LxM jM=(d e f.g)L=(ab,c} ] (-7

o

If L={a,b,c} , M={d,e,f,g} then find two binary ralations
in LxM

Find standard deviation "S" from given data

12,6, 7, 3, 15, 10, 18, 5

Prove that cos'@—sin® @ =cos’#-sin’ @

Draw two common tangents to two touching circles
of radii 2.5 cm and 3.5 cm.

Prove that perpendicular from the centre of a circle

on a chord bisects it.

Prove that the opposite angles of any quadrilateral

inscribed in a circle are supplementary.

st iAol 25 (L)
12,6,7, 3, 15, 10, 18,5
cos'@-sin*@=cos’@-sin’@ sZL =k 08

J;}’::LL-JLU_? "3.5z:’('2.5u’!u£u:}bf_.ﬂl.ffu (‘r’)

_..‘-:;fuv
-6 I.'/r...i:"‘—d‘-;ﬂur"{ 7 J:;.. Sl ity 9

............ T
-

Ut L i FKe S L AR o S i df
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Note:- You have four choices for each objective type guestion as
guestion number. Use marker or pe

fill that circle in front of that

will result in zero mark in that ques
sides of the Answer Sheet and

SR it

BT 8 S

(2014-16 to 2016-18
PAPER CODE 7191

)= VCJ:I;EC{_’ ;;,.J.d.b':- Jlr,':._.:téfq‘_ﬂ_e_féi &1 ,D, HMC B A = L
Kl iz o1l 94 .:..-,-:"JH.._.) el li Foshibelic it S e

s -.__.JLb Eliasd ..-‘,"L‘“L,\: -.'.'-JI"UrL.

Use of ink remover or white correcting fluid is not allowec

'y = T e Wt L

7 bt - -t 2 " L AL ) )
1_;’;{ ) (h-‘-d/rﬂ;ﬁ} )

I e s e L nl s PAPER CODE

[ o

(S W

2 !
U vl Jir s il

A B. C and D. The choice which you think is correct,
n to fill the circles. Cutting or filling two or more circles
tion. Write PAPER CODE, which is printed on this.question

Eaper, on the both
fill bubbles accordingly, otherwise the student will be responsi

le for the situation

(D) (C) (B) (A) QUESTIONS Q-1
IS 977 =i s -;-:'JL—‘V'J(:" =l JU..'.-J.’- _.l_:ll...g_. rjd/ F+37+6=0bl-| 1
Quadratic Radical Reciprocal Exponential _ i e
equation equation equation equation |An equation of the type 3"+37 +6=0isan
J-‘-" gt L}-?,—,; J'bt;,f’ -ugud;£:4}t2-51+2=0..':-lsl.—‘ 2
Real Rational Imaginary Irrational Roots of the equation 4x* - 5x + 2 = 0 are
_% _-_E E E {..ﬂf‘:a+ﬁ;UHJj::.£3!’+51-2=U.:-hU p.a J 3
3 5 3 If & , B aretherootsof 3x’+5x-2=0,
then @+ is
12 3 4 75 -f{jr}*’xdd:xuﬁﬂsgg 4
4 3 4 Find x in proportion 4 : x : . 5 : 15
2 ko 2 _y? 1 k PCN 1
yo=kx Yy =x 2_ 1 - .3 2 ) -2 5
yi= If ¥* o€ =\ then i Ve A
¥y =3 ) N, P
- i PRl S =
=l 2 =i~ /‘r":!'/{ /r'."""'l’ G 2_/ A z__.;;ﬁb}__m K”:;CJ‘.U: "’r’/ ®
. . . An improper | A proper /~hAfraction in which the degree of the numerator is
An inequation | An equation fraction - Ira::ct’n'gr'\}-“r—"f greater to the degree of the denominator is called
...—,»_-(_"? _,,:-.;_f i i&,’- (,"‘*‘fﬂ J - t'll.'(ﬁd':uﬁu: Sl 7
Sub set Singleton set |} Fower et \J\F{ull set The set having only one element is calied.
52 o8 i 25_;\3‘\ \,w‘; 2% AxB 2 LBers 3:&{’;:11?'0: A-..‘:_*_:)‘l 8
QY e G S L
NWS If number of element in set A is 3 and in set B
=2 is 2, then number of binary relation in 4x Bis
s 5l S T Gil?. N G"U'. Sk 5 s & t'l_r!:f,qlbl{ ﬁdlﬁu:ﬂ_!’:m’-’gﬂ [,I.lﬂ"lll/:'rdjﬂ. Jr" 9
Lower class | (lass limits | UPperclass Mid Point | In @ cumulative frequency polygon
boundries boundries _ frequencies are plotted against
B | CRALE |(BYnLae] FABY [T e ded@ui S LB 10
Circular MKS system Sexagesimal | cGS system | 1€ System of measurement in which the
system system angle is measured in radians is called
L'f sk 7 -.-_C_Jl - I‘.:y’c.. Léf/,jgl;h 11
Three Four Two One Through how many non collinear paints, a circle can pass?
f Sl St B sln__ LATGWLE juy L PLleih| 12
Perpendicular |  Parallel Non-Parallel | Colinear | Tangents drawn at the ends of diametre of a
circle are to each other. -
80° 60° gk o q.,r::___:;r;difs’h.'-l»'-ém.':.w“,:ud:&w;.{l 13
0 An arc subtends a central angle of 40° then the
corresponding chord will subtend a central angle of
4 uf 2 ¢ 3 U9 - dﬂb”zﬁgiu&pﬂ:dguﬂﬁ.ﬁin—f'b@ 14
The length of the diameter of a circle is how
4 2 3 1 many times the radius of the circle.
3 4 5 2 _uEEElng:JVJ}'E'EIZ:u::‘thL/Ju 15

How many common tangents can be drawn

for two touching circles?

1019 — 1018 -- 450
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Answer briefly any SIX parts from the followings:- 6x2=12 -q;{;&“ﬁ/ﬁéizl 4 .c.-(ji{r.'_- :_ﬁd'_i L 2

I Pl e

Define Radical Equation. ()
Solve by factorization 5x* = 15x s = i8x S PEE el )
Prove that the sum of all cube roots of unity is zero. e n-:)‘uf b’.,eﬂi 15 rli.{_ JE’IJ’._,_')';-,E (i)
Evalvate (9+4w +40’)’ (9+4w+4w*) L ebad ()
Without solving, Find the sum and product of the roots of e el AL S e Gandnd ()
quadratic Equation. px*-gx+r=0 px-gx+r=0
Define "Symmetric function" Sl SE S (vi)
Define "Direct Variation". ) \,5‘; E e (i)
if Aoc ;IT and A=2whenr = 3, find "r* when A =72 gﬁ\gjﬁ%}rﬁ’r";r =3_2A=24 A% :i,— i Qi)
Find a third proportional to a-b%,a-b ’Q‘? ” a’-b% a-b e BLL (ix)
Answer briefly any SIX parts from the follaﬂif{qgﬁft’vsx2=12 GIfee Lz g e L it 2
Define Identity. | ﬁj,g Al )
Tx -2 Tx-9 .
Resolve into partial fractions (x +i}§xf—3} m _g,{fdr.h‘;,t # 87 (i)
If X={1,4,7,9}, Y={2,4,5.9) find X VY S XKUY jy=(2 4508} X={1,4,7,9)./1 (i)
If A={a,b} , B={c.d} find BxA,Bx5 S Bx A, BXB jp=icq)as{ab) /i (iv)
Define Binary Relation. sy Ay d¢ W
Findaandbif (2a+5,3)=(7.b-4) (2a+5,3)=(7 . b-4) fiylptedSoma (v
Define Median. S s (vil
Find the model size of shoe for the following data. b sa oty Sez S S arlr SUBoy Sz (Vi
4,4556,66,7757588865657 4,4556,66.,7,7.5.7,588,86,56,57.4 />
Find range for the following weights of students (Suin Ly )y S oier (i)

110,109,84,82,77,104,74,97,49,58,103,62

1020 - 1018 — 45000

110,109,84,89,77,104,74,97,49,59,103,62

(P.T.0))
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Note:- You have four choices for each objective t

fill that circle in front of that question number.
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the

sides of the Answer Sheet and fill bubbles accordingly, otherwise

Use marker or pen to fill

Use of ink remover or white correcting fluid is not allowed.

L a1 Qe NS s PAPER CODE

ype question as A, B, C and D The choice which you think is correc:
the circles. Cutting or filling two or more circles

both

the student will be responsible for the situation

The length of a chord and the radial segment
of a circle are congruent the central angle

made by the chord will be

(D) (C) (B) (A) QUESTIONS Q-1
% d’ﬁ'k; SV Vs - E s f/ré.;;f_ ] 4
Chord Secant Tangent Radius A line intersecting a circle is called
/4 5 T T .
= T = = e brt i e ik | o
* 3 Angle inscribed in a semi-circle is
2) (£2) ) (x4} - S EAC-16=0hl | 3
The solution set of equation 4x’- 16 =0 is
3 2 1 0 ce s KL L0 4
Sum of the cube roots of unity is
N & F Fif |wlrsulad sbx+c=0ahlnb-dac<0 S| s
Imaginary Real Rational Irrational i}fn the roots of ax® + bx + ¢ = 0 are
75 4 L x4 xi 5158 6
4 3 ortion4 : x::5:15
a—b:x—y a+bﬁx+y L. é}‘ . -;_.‘:-fidi'ai_-l?ﬁa:b=x:y/’l 7
X y b y by _ xj};h\\%” if a:b=x:ythen alternando propenty is
. O
=k =l /.‘_p_l, ’ </\{f_=__-,;!,/_i 2x+1 o I 2x+1 8
: . ‘ A props {+} An improper (x+1D(x-1) B === ¢ D(x-1
An identity An equation fraction) ™ braclifh, ( )
g Lot (R0 2 A Ao
Superset Powerset Subset Set A collection of well-defined objects is called
B-A ¢ B A e trdzA-Bin ACB | 10
If Ac B.then A-Bis equal to '
— ..".-:,cﬁ .-J:’L‘Jl:: ksl - &‘.‘{fa,j& =4 Jlg';luf:b“d'/ 11
; : The extent of vanation between extreme
Range arisnce SR FICINE observations of a data set is measured by
oL - $S3 oy bl n S LN AL Ut | 12
) ) The union of two non-collinear rays, which
b5 AT P o cetinmiSe Sl | 13
Circumference Secant Diameter Radius A chord passing through the centre of the
circle is called
yx by X Cow e b okl b | 14
Diameter Centre Chord Secant A circle has only one
U c'_ e 7St Ll L,JEL;JL}/J‘JHJ'}: S L] 15 .
30° 45° 75° 60° iy

1021-1018- 30000
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Answer briefly any SIX parts from the followings:- 6x2=12 -J_f(;@}lz/‘?d:l?:l 7 ;.Jf.c.. u’l';,[j bn -2
1Y 9 .
Define exponential equation. ,.,)"(...qu I~ du_,,' (i} Solve 2% — .2_ = Z -.-_ff.f (i)
1n A8 - k¥ 15 -
Evaluate @ +@" -5 O AT =5 S (i)
2, p2. )
if ©+8 are the roots of the equation > +px+q=0 @+ jun sl R rpx+q=0cils 5:Q ] (iv)
then evaluate @ + /5~ _.’.-.j:’-,-r'}’f'._-;#f f
Write the quadratic equation having roots 2 , - 6 ' -éabbdu 33 (4l u‘l; 2,-6 (v)
Use synthetic division to find the quotient and S 8y ;:'-—-""J‘ir enZ SIe s (i)
remainder when (X* +7x—1)+(x +1) \a (*+Tx =) +(x+1)
.,_"'\.I /\f‘bl
P \-1 e fa -
Find third proportional to 28 and 4 9«»\?‘_)‘” U AEE Y 28, 4 (vii)
N mj g .
If 3(4x - 5y) = 2x - 7y , find the ratio x : y. NS S x sy e T 3(ax - By) = 2x - 7y 1 (i)
M X
Define proportion. P wa \ -L)..‘d...t_'j /‘J -t (ix)

A

Answer briefly any SIX parts fram tﬁ‘& !ollowlngs 6x2=12 -Q&;&LE/#L IZl & = Jf.:.. L JJ s -3

What is proper fraction? S i/ /.’...m (i) Define a rational fraction ../ 0t (i)
If X={2,4,6,....20} , Y={4,8,12,...,24} then find X - Y = X-Y7Y=(4.8,12,....24) , X={2.4,6,...20}./1 .(iil)
S
If A={1,2,3,4,5,6} , B=(2,4,6,8) then prove that Su ek IB={2,4,6,8] A={123.4,56).]1 (iv)
ANB=BnA ANB=BMA
Findaandbif (3-2a,b-1)=(a-7,2b+5) (3-2a,b- 1}=(a-?.2b+5}ﬂqfrk’.:..§d’b.ula {v)
Define mode -u‘.‘g..ﬂfd' ol (vii) What is bijective function? ‘< tx Y Jere A vi)
Write the formula o find median of grouped data. K S s et 5o i)
Find arithmetic mean of given data. _q/‘/r:l"‘iﬂldu J:I:’éi i (ix)
200, 225, 350, 375, 270, 320, 290 200,225, 350, 375, 270, 320, 290

P.T.O 1022-1018- 30000 . _



